5.

Casparian strips occur in
1) Epidermis

-‘2) Cortex
(3) Pericycle
Endodermis

Plants having little or no secondary growth are

\]/Grasses

(2) Conifers
(3) Deciduous angiosperms
(4) Cycads

Sweet potato is a modified

(1) Stem

(2) Tap root
(VAdventitious root
(4) Rhizome

Pneumatophores occur in

(1) Halophytes

(2) Carnivorous plants

(3) Free-floating hydrophytes
(Y~ Submerged hydrophytes

Secondary xylem and phloem in dicot stem are
produced by

(1)  Apical meristems

(2) Phellogen

(8 Vascular cambium

(4) Axillary meristems

Which of the following statements is correct ?

(1)  Ovules are not enclosed by ovary wall in
gymnosperms.

)~ Horsetails are gymnosperms.

(3)  Selaginella is heterosporous, while Salvinia
is homosporous.

(4) Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1) Cell wall is present in members of Fungi
and Plantae. _

(2) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(3) Mushrooms belong to Basidiomycetes.

(4) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

srevuriwer L el 6T sraiiL@es

1) ypsCsre

(2) ymenf

3) Qufessdler

4) =85Csma

@ramimd  Hee eaeaiéflow Aflu  setelGaor

Sivag wpHdlad @damoGar o drer sreurmhiser

(1) yopser

(2) Garefl@uitser

@) @eaudi usEb sreurhssT

(4) eossser

sisamraudralls pmide wrpmmeans QmLiug

1) san®

(2) el Gaurr

3) Ceuphl Gaurr

4) i fessar®

seurg Gauliser sreariLBeg!

(1) sg0y Hes sreurriser

(2)  ysfyamemib greunmiser

3) sellss Ossebd fissrariad

4)  wpdu sheoe Sissrarisea

Qoeisdlons sreurs sames Grarimd Heow

s womb UGTTwD 2 HharsEas

1) mefl wss6ds

(2) ule ss588

(8)  aumevGent s5585

(4) Garewr ss5ds

Spsar sappsaie sflwrers ez ?

(1 BHuGamev@uinbsaiier @asea Gos
sauflemed @riuLafdme.

(2) @Horeaurd CQurefisdr aariemal
el ibCGammevQUiibaeT <yae.

3)  CewrglQarmer @mélse aumswyb
srdeiaflur gmilde amslors o dratar.

4)  aesev YYD Qelyev 4w @ e b
san@ser Qurgleurss easdmriLdome.

- saupner aparn CsipOsHésas

1) yepoeser wpmib QemanGL s dwieubmier
Qedsai 2 ererg).

(2)  @uGuGrm arssefley QumissToET

@ uQuuitey WHDIb 2 @rapl L
SDWULSETTS 2 eTeaTar.

(3 PTG@G®LE srermenaer Cudly Curenodi
gL Csipg@a.

(4) Cuwefyr gelflitég wHD Currssaio
el CLrsrar_fukser Qsdedldr eyhme
DWIRISETTS 2 GTeTer.
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10.

8

Q

q ©

\d.

Winged pollen grains are present in 8.

( Mustard
(2) Mango
(3) Cycas
(4)  Pinus

After karyogamy followed by meiosis, spores are |9.

produced exogenously in

(1)  Neurospora

(2) Agaricus

(3) Alternaria

(4)  Saccharomyces

Match the items given in Column I with those in

Column IT and select the correct option given

below :
Column I Column II

It is a place having a

collection of preserved

plants and animals.

a Herbarium i.

b. Key ii.  Alist that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various taxa.

(i Museum iii.

Catalogue iv.

a b c d
1) i iv i il
(2 i iv iii i
iii i i iv
(4)  iii iv i ii 11.

fpGew ETHSSSIGETHET STantiLHoug)

(D
@
3)
@

EI0IC)
o
NF&HN

enLIeen

avGurniiser srACurasmA Qs ipg @@ssH@May

Qaueliiygons Gemeng
D By GyrevGuimym
(2)  wsmisev

@) e iGarflur
(4)  srs5Crrenodeny

Qg Tded

EpsaT_eupmier sflwmer oL aws CsipesGss
Asmed I wppid Gpred I-g Gurmsd ass :

CAsmed 1
a. 2.af i
srauTsQsmE Ly

b. &peyCsned ii.

C. SHEsTAwsbiii.

d. L euenent iv.

Camed IT
LsULBSSLILIL L. sTeuy
whHmib ek AsmELiLser
Qaraim_ @ ib.

eflgdled sramriiu@b
Smarsg 8 bhamgeafer
H(h&soner efleuiyLer
gl auflenasdl_omer
s NseisE 21Ul .
2 Qigd BipSSIILIL L
gneur wrlflser srefld
SULLULL R encudsliLiid
Quib.

uoGeun Lrésrersamar
S&TLPlui 2 ey o~
LSS Bjeuifler
LrHoIseeT LD
Uligwell il L g S
HgpsL.

a b c d
Wy 4 iv iii i
(2) i iv iii i
(3) i ii i iv

(4) iii iv i

ii

18l Seupns L QuTmSsriLL Heters) ?

. 1) ppeops seosleap - uralee:Cureiiur
11. Which one is wrongly matched ? CoL_Haar
( Uniflagellate gametes — Polysiphonia (2) Qgubor Camiousdr - wrisrefiur
) Gemma cups —  Marchantia T . Wenig — Lk apdmhsdr
(3)  Biflagellate zoospores — Brown algae @aCLmi
(4) Unicellular organism - Chlorella @)  gm Gsd 219 - &Camr@yererr
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12.  Which of the following elements is responsible for [ 12. Spsem_apmedr agsafion Qewseaiid  alapliy
maintaining turgor in cells ? ugmofliQer QurpiGupdng ?
(1) Magnesium (1)  wsafHwuw
&7)) Potassium (2) QumiLrflwn
9 (3) Sodium " (3)  Gemgquib
(4) Calcium (4) sroflub
13. Which one of the following plants shows a very i g@;?;L " %ﬂ gings = I oo i
close relationship with a species of moth, where wrhuder g Appiegd ApEasup Ggning
g 2 Qaremg hLiLigame, genlerd wHEADTED Farg)
none of the two can complete its life cycle without e ; B 5
Shnoiliaen aumpsas spnlew BHepe Gauw Gueors ?
(1) Hydrilla ) AR
(2)  eumanyp
(2) _Banana &) ks
2) Y'.wca 4) eauCumrer
(4)  Viola 14. dyau anpLygafcd D& hSSSIHETHE 6T ey
14. Pollen grains can be stored for several years in garhsdr Callss oads Quabd  sdre
liquid nitrogen having a temperature of aplrgefld Qeuriu Hlaew
(1) -120°C (1) -120°C
(2) -196°C (2) -196°C
(8) -80°C (3) -80°C
(4) -160°C (4) -160°C
15. Double fertilization is 15 E@igl_a:ol—: fsqimyﬁ‘:ﬂ;mggj e s Qedadi
(1) Fusion of two male gametes of a pollen tube 8 (gmgm @@j e O l_? @evaimeu
with two different eggs @ @@ < Gens GS)&;G‘H P aa’fLégm_dr
(2) Fusion of two male gametes with one egg Benamrais
(3) ﬁ'::ll:ln of one male gamete with two polar ) @@ e %mg; Qs, @® s
. 2 U §(hé&5EHL 6T Q)eemeug)
\\M Syngamy and triple fusion 4) 2eamewpurer smapsd (AaGssl) wHmIL
16. Oxygen is not produced during photosynthesis by epelenamray
Green sulphur bacteria 16. @mgﬂ;ﬂd'r ' @mﬂé(‘ze.r‘résma;uﬁ]a'm Gurg  yseligger
N @) Cyeas (QSU uSh_uqu;u,éi)mw{wm s
(3) NOStOC (2) ;&@)LD FOLIT UMSeMUITSS6T
F&H 6TV
(4) Chara @) grevers
17. What is the role of NAD' in cellular (4)  amgm
respiration ? 17. Qse seurdlssefleo NAD* e L erenar ?
(1) It functions as an enzyme. 1) o8 o Aprdurs Qsudu@ds.
(2) Itis anucleotide source for ATP synthesis. (2) <@g ATP surfude g HusafGurem @
EN 487) It functions as an electron carrier. epaLd.
(4) Tt is the final electron acceptor for anaerobic (3) =g aQesgrer sLswins QeuduGEHDS.
respiration. 4) =g smpdloer  surssdd  soLflow
18. In which of the following forms is iron absorbed ) .Gr@mimmfh GI,LT)IQ.. ) A
by plants ? 18. SpsamLapdear  aps  Heowsdo  @moby
i e flrr)mrrgzzgr:) fpdlssu@dpg ?
\ (2) Freeelement (2) s @Epr safwbd
%Ferrous (3)  Quired
Both ferric and ferrous (4) Quifls wppitb Quiryev @reRrHLb
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19. The Golgi complex participates in 19. Gardens 2 g ser Qaupfler LmGsndlemmar
(1) Fatty acid breakdown (1) Gsmyuy sifle desssd
(2) _ Respiration in bacteria 2)  ursefurssefie sarfgsd
9 ( Formation of secretory vesicles B)  &puy euser Careysed
(4)  Activation of amino acid 4)  @bGar @fle Qswerssid
20. Which of the following is nof a product of light|20. Spserm_cupper gefsGarsamauler @afl ellevarulen
reaction of photosynthesis ? siloarummer oyevevnssy erg ?
(1) ATP (1) ATP
(2) NADPH (2) NADPH
(3) NADH (3) NADH
\\ &’) Oxygen (4) Oxygen
21.  Stomatal movement is not affected by 2. Qeesgiwa Qussh @seamed urliue L adsome
V@) Temperature (1) Qautiu Hevew
\ (@ 0, concentration 2 0, Gsflay
(3) Light (3)  qafl
(4) CO, concentration @) CO, Geflay
22.  Which among the following is not a prokaryote ? |22- &psar_aupper LGrramAGum 2IeOVTSE) 6TE ?
(1) Saccharomyces (1) enésCrrenwdan
(2) - Nostoc (2)  previmé
(3) Mycobacterium ) @wsCsrundefuw
N\ @) Oscillatoria @ foatLrhiur
23. The two functional groups characteristic of|23- &Téseraater @ Apimer d@ars@gnsSadr
sugars are 1) oapijréfé wpmb QusdHa
(1) hydroxyl and methyl (2)  srrueare wWHmID LTEGLL
(2)  carbonyl and phosphate @) sniuemand wpmb Qo
(3)  carbonyl and methyl @) sriueand wHmId eantgrédo
\\ 44T carbonyl and hydroxyl 24.  Spsam_eupmer 2 La(pLoanf] &S T3
24. Which of the following is true for nucleolus ? sflunang '? . _ )
(1) Larger nucleoli are present in dividing cells. @) usoy .mg’m_'—@“@“? ggw&aﬂw Quifiu
(2) Tt takes part in spindle formation. %Lg’@w : ser MWU_L'@ mrﬁ“ m",
: 2)  @lamge Gy Coramyeuda TG
(3) Itis a membrane-bound structure. adsBarpar.
(4) :;n;ie:is site for active ribosomal RNA (3) S B sdia) GBS SO,
] @) eyGurGemd RNA swinfliiQer sarib.
25. The stage during which separation of the paired .. : SR
*  homologous chromosomes begins is 25. Cgry Coips  gsp &CrGuonGsmbsdr Gl
<nb9&Eh Hea
(1) Pachytene e
- 1) urdliesr
~427] Diakinesis ;
i Dialotihe e (2) e wuresadfla
> 8 7 & (3) wguGearmess
(4) Zygotene (4)  asGamean
26. Stomata in grass leaf are ] g 3
{" Dumb-bell shaped 5. L*lﬂ’“ﬂ‘” Boosgoaser
(2) Rectangular E2; 2 Béams aig aurarg
\ (8) Kidney shaped @) ;@qmnmg
(4) Barrel shaped ’?’5“‘? .
4 Sound eigeurang
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27. The correct order of steps in Polymerase Chain [27. ureflwGrev smdled claardear (PCR) wi
Reaction (PCR) is Revaaseiler sflwurear aufleans
(1) Extension, Denaturation, Annealing (1) priuypsd, Quaydeagsen, usaTTHDD
(2r) Denaturation, Extension, Annealing (2) Queydessd, HLAuynsd, LUgeTTHHO
“)—13) Annealing, Extension, Denaturation (3) usenmhHpe, Hrduynsed, PuoLfagssd
(4) Denaturation, Annealing, Extension (4) Quaoyfenssd, Lugamhne, Hruypsd
28. In India, the organisation responsible for 28. Qpd u'm(,ﬂgd)’ - el HoH - Ggmmuu{"‘
R : : ; o Wflemsaflar LrgemieL  wWHUTH Qe
assessing the safety of introducing genetically Q » = fegra " -3
- ; < . ungwssailar LwETUT 14 HEEG ADpsd G
modified organisms for public use is Q = e :
) ; ] ummity eudlé @b Hipeuand
(1) Indian Council of Medical Research (ICMR) (1) @pdurellen wEssa BITIEE GIDL
(2) Research Committee on Genetic (ICMR)
Manipulation (RCGM) (2)  ryL Quimgpar DEUTEFUSHESTE
(3) Council for Scientific and Industrial 2mLEss G (RCGM)
Research (CSIR) 3) <ofedwe wHmb Csmibert eiesame
(4) Genetic Engineering Appraisal Committee & (CSIR)
(GEAC) 4) gy Quriue HOLSE s Gw (GEAC)
29. Which of the following is commonly used as a[29. &psar_eupper wefls dlbCurems’ Gsodld @
vector for introducing a DNA fragment in human DNA gan_geng 2. Ceiss Gurgieuns Lwerl®BU
lymphocytes ? & sL58 ag ?
(1) rovirus (1) Qp Crreveuieiv
A phage (2) AGug
r)/ 5 < (3) TiGemmevfi®
(3) Tiplasmid
P (4) pBR 322
(4) pBR 322 g o Lol &
30. Use of bioresources by multinational companies 0. ucb'rai‘rm_G ‘r_f,lbg)]ajmr::mm.qggmm & gn_t:a; p_l_i
and organisations without authorisation from the mfim::”mu" Lo 5}"5‘2 5 jzmu 5‘ mﬁ %@;‘:’m !
concerned country and its people is called i mu} e';a;tﬂ%l&m - ssisl g
(1) Bio-infringement e 8 5 /
i : (1) eGrent isgsISne
(2) odegradation . el
6 Blopitacy (2) oWGflsermed Hangsse
(4) Bioexploitation (8) - muiitgat S0l
(4) 2.9 iemiT GrerLe
31. A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been|31. @@ yfu <fifl psb =iz Bar srab Gpdureid
present in India for a long time. This is related to o aerGugId @@ Gesfipni®  Hpeuadsnd
(1) Co-667 sriiyfleow QuoriLl Herergl. 2ig
; (1) Co-667
(2) Lerma Rojo (2) Qi Cymggm
\;\ (3) Sharbati Sonora (3) siud GenCanyr
Basmati (4)  urswnd
82. Select the correct match : 32, eflurst QurmssLILL L @ss CaiblsHésab :
) / Ribozyme — Nucleic acid 1) erGuremsnd - Pwsells @b
(2) T.H.Morgan — Transduction g: gH "D"ﬁaf"é” b QW@G’L mr'rm) ot
(Qr F, x Recessive parent — Dihybrid cross Qi ;(;;?ﬁm@umq " sl
Sﬂ/ G. Mendel — Transformation 4) G.Quer ® - @uebTHob
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33. Natality refers to
(1) Death rate
(2) Number of individuals leaving the habitat
(3) Birthrate

W Number of individuals entering a habitat

84, World Ozone Day is celebrated on

1)
(4)

5% June

16t September
21°¢ April

2274 April

35. Which of the following is a secondary pollutant ?
(1) €O

(2) S0,

¥\ (3) CO,

N O

Niche is

(1) all the biological factors in the organism’s

environment

the range of temperature that the organism
needs to live

the physical space where an organism lives
the functional role played by the organism
where it lives

36.

(2)

(3)

W

37. What type of ecological pyramid would be

obtained with the following data ?
Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g

(1) Inverted pyramid of biomass

Mpright pyramid of numbers

(3) Pyramid of energy
M Upright pyramid of biomass

38. In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and

release of molecular oxygen ?

33.

34.

35.

36.

317.

38.

BILIS @ eTaiLg) erenss GH&ELD

(1) @puy fzid

Q2 e onfisoms &A@ pued
o Wirseler aranenfi&ams

Qpriy efdgid

86 anfgfo uebd sef
craentl s

2 w5 @Gsrer Hand QaramLm LiLHeug)
(1) 5 e

(2) 16 Qs bui

(38) 21 guge

(4)
Epaam_eaupper @rerrLmd Hleow wre ezl ?
1 co

(2) 80,

(3) COy

(4) Og

safl

(3)

(4) o Wirseflen

22 eriiged

GQUETLILINTRIES) GTGTLIZ)

(1) eWfesdan adm Gueled o dtar @B
2 @flwe wpmb @uimdued sryaflsdr

2 fland emps Gsememwrar sUubeu
EES ]

2 Gflend grenr amrpd 2wflud  WHDID
2 9flwed Heowseallar aféams LLETLESSHID
cfigib

2 ufflamd QUTPD
Qewdur (i UniE

(2)

(3)

(4) @Lsded

BB

Epsan sresaldBpg daemsUTaT GRHmas
s Qupriu@w ?

@nammb Hleve misiGeuni : 120 g

ws® flee mstGeur : 60 g

wse fee 2 pusdurer : 10 g

2 IQTLQUTHET snes saibL

Cryren eramenfisenss saiby

DD Fnldly

aul@rtiQurmer Cormer snibyy

(1)
(2)
(3)
(4)

Spser  saflomsaiie  dvr Gl GLraviSuwifid
gCsranr Aasfe eleenysdurs GCswoul®
posemy psafigar GauelliuL smemoneg agl ?

(1) Carbon
(2) Fe (1) sriruer
@ al oy e
3 Cl
4) O
o s @) asaligar
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89. The experimental proof for semiconservative|39. u@d ungsrésiucL DNA psaréssSar ey
replication of DNA was first shown in a srery Pseled Pl L g erdled ?
(1) Fungus ' 1)  yepes
(2) Plant (2) smreunhd
?) 437 Bacterium 3) ursefub
(4) Virus (4)  eeured
40. Select the correct match : 40.  sfluirss G_U"('b!-":@udfmmﬁ Gsips@ésab :
(1) Alec Jeffreys — Streptococcus 1) s Og-Lofla - e QUG rsnéset
pneumoniae @ oo e il A Gwrraﬁcj’w
(2) Matthew Meselson — Pisum sativum u)rrgfg 5 .&asr Lgats = ouimD BLaRESID
andF. Brabd @ il s o - TMV
20U Glami =
. (3) Alfred Hersheyand - TMV oppb wiEST Gsed
Martha Chase @) Oprensmi . :
| i uprenamiey Ggal - ersé @uimen
(@) ancois Jacoband - Lac operon wppid Cegé wmemm
; Jacques Monod 41, sflwnrer saperp CaipEsHESLD :
} 41. Select the correct statement : (1) “Gevanriiy” erep Qerders LTSS w6
(1) .Franklin Stahl coined the term “linkage”. Strigeatier evGLae.
./3/) Spliceosomes take part in translation. 2 muf*"”ﬁ@u-’"@"mb&m SRR GTRIN fu Tl Y
(3) Punnett square was developed by a British GCRICEL L
£ séionhist. (3) yerem sgind @@'lgh:ﬂl'_l:q.dq; <iflefluicd
(4) Transduction was discovered by S. Altman. ‘9"@ SN EQANSSII B
) 5 N 4) perefleor wipnsms s@Td9gssai
42. Which of the following pairs is wrongly S. @y Guer.
matched ? 3 ; ; crmens
42, Spser. Qeenseiey sauprsl Qum G L
Starch synthesis in pea Multiple alleles G:; ? 8 s Ch 1
N \ (@) XO type sex Grasshopper (1) wiLmesfludlé T LUDsaL () SioeSaSser
determination &7 2 Hgs
(3) ABO blood grouping Co-dominance (2) XO auers uney Hiramrwith < Qeul Gadef
(4) T.H.Morgan Linkage (3) ABO @iss euens : Qe @RIGSETED
43. Offsets are produced by ‘(4) " T L,Dnmr’_nm S
(1) Meiotic divisions 43. ‘grulsGadr Ppamar CarapSpg
(2) Parthenocarpy D) @epd H@L el
(8) Mitotic divisions (@) SOAUBTE E“ﬂm@_d’
(4) Parthenogenesis 83 @D LGS
X .
44. Which of the following flowers only once in its : .5(584‘.:)" @ ,5%“@91-.0 B
life-time ? 44, £g?&;mfn_w,mgjm sarg aumppreiier @Cr @ pen
(1) __Bamboo species LBE G oo e
,(o!'/l?d/ango ( (1) apradler HpPlerd
(3) Jackfruit g; -
(@ Fopgn @ uouned
45. Which of the following has proved helpful in |45, Sps@T_upHDIET ETHSSSIGTEMmaT
preserving pollen as fossils ? QAsméugowrst Cuaneadld 2 gelyflu adiams
(1) Pollenkitt fo9sss ol ?
(2) Oil content (1) Gureerdl
W @ Cellulosicintine (@)  eremGenns Qanaing GLUS)
m Sporopollenin (3) QeogiGemenmed par s D
(4) BUGHTQurdeiafier
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46. The transparent lens in the human eye is held in
its place by
(1) ligaments attached to the ciliary body
smooth muscles attached to the iris
Rt ligaments attached to the iris
(4) smooth muscles attached to the ciliary body
47. Which of the following hormones can play a

significant role in osteoporosis ?

(1) Aldosterone and Prolactin

(2) Estrogen and Parathyroid hormone

(3) Progesterone and Aldosterone
{/64’)’7 Parathyroid hormone and Prolactin

48. »\Whjch of the following is an amino acid derived

49,

hormone ?

(1) Epinephrine
(2) Estradiol

(8) Ecdysone
(4) Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

@ Medulla oblongata :  controls respiration
N and cardiovascular

\/ reflexes.
) Hypothalamus production of

releasing hormones
and regulation of
temperature,
hunger and thirst.

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

band of fibers
connecting left and
right cerebral
hemispheres.

(3) Limbic system

(4) Corpus callosum

46.

47.

48.

49.

waflls sarseid 26mer gofl 2a@Emayb b

<igear Hlaouie ager apad HndsliL@ins

1) &Swfl 2 puCur® Qe msEh
&CeT (DT

(2)  pRevGsr® QamarbdBaEh GLoedlasser

3)  gilevGar® @amanbdméEh a@waTBadr

(4) &Swfl 2 muGuI® Qeeanbd msELb
Quéndlssser

e CurGunrflevedles wpasfw LmE wdsEh
anmirGumer erg ?

(1) e mevgCrmer whHpib LCTTOTESIY 6

(2)  rrevgyeger whmith LmrengTmi® apmiGome
(3)  yCyrQggevg Cymer LHMID <L TevigCyme

(4)  umresrmi® anmiiGLomer wHmitb
YCrmeonéig e

e <flosfeSpHg QarerTyiiL L

anmiCumer erg ? )

(1) e19Q@meLiffar

(2)  mevigpen Cuimed

(3) erse_Gamer

(4)  rmrevigeyGuimed

Slémau(meuemeldmer TS @iy 2Ge6ir

QewCar® geuprs Qurmhuerars ?

(1) Qu@eoaer 1 &eungld wHmib smitg Guir
SlionGsLr curevGeit afléamasmer

5L QUUGSEADS!.

(2) eapuBurgemos : &TUY anriGorarsamer
2 HusH Qeiig), QeurLib,
L8l O STESM®S
ETUBSSID.

(3) &fwlbs QAsmad : apeerufer L LGHsmen
@eens@n B
SHenmaener
Qaraimiq(hé&@D, @ubs
Qawidpsemaer
SLOUUBSFD.

(4) smiuey &Camsd @ auwg LHDD @)L g
Qumepener
SiayGsrerhisaer
Genemé @D BT SHEDESET.
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50. Match the items given in Column I with those in |50. &psermcuppier eflwmer Merieows CoibEsBss
Column II and select the correct option given Qsned 1 wppib CsnEd -8 QuresS awegs :
Belowis. Qsred I Qe IT

Col l I
obumul L a. HeearCar@Mwm i apr@safld wihs
a.  Glycosuria i. Accumulation of uric sfleob Caisd
acid in joints
b. Qser ii. fApBrasdoeer
b. Gout ii. Mass of crystallised et ser
salts within the kidney
Uig&Lomer 2 UIL|&e6T
¢. Renalcalculi |iii. Inflammation in ) )
glomeruli c. flé sreg e iii. gCearmnemeveTudes
d. Glomerular iv. Presence of glucose in THUGD spHé
nephritis urine d. @Germoemermi iv. Apdile GErsGarev
i b é d QpeLifl g6 2 @reng)
(1) il i iv i a b c d
(2) ii iii i iv (1) iii 5 iv 2
3) i ii iii iv (2 ii =4 i iv
A 1 1 @ i @ @ v

51. Match the items given in Column I with those in (4) iv i ii iii
Column II and select the correct option given
below : 51. Spser apped efurer oL ous Csiblsds

Column I Column II Qsned I wpmb AsrEd II-g Qurmss awss :
(Function) (Part of Excretory Qsned 1 Qs I
System) (Clewiser) (5fley r !
Ultrafiltration i. Henle’s loop ; Bés@smEguien
: ) ues)
b. Concgntratxon ii. Ureter a. mar algsi s i Qapdred cuearay
of urine
b. Simffen i i WGy
c. Transport of- iii. Urinary bladder pffidr sifia) e
urine c. Enfr sLssru@se il ApHi eou
d. Storage ofurine 9% ANalpighian d. Spt Gesfu iv. wrosGgudr
Doy s Qg
v. Proximal V. @psatewn
convoluted tubule ' QUEMETEGM
a b c d & b ¢ d
S 0w v L @ v v i iii
@-x o H @ v v i i
G v i i i @ iv i i
o R iii @ v iv i iii
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52. All of the following are part of an operon except | 52.

(1) an operator

e)@ an enhancer

(3) structural genes
(4) a promoter

53. A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be 53.

inherited by
(1) Only daughters

y@ Only grandchildren
(3) Only sons

(4) Both sons and daughters

54. According to Hugo de Vries, the mechanism of

evolution is 54.

(1) Multiple step mutations
(2) Phenotypic variations

%@ Saltation
(4) Minor mutations

55. é&%(jGTATCGCA’I;(is a sequence from the coding

er?e. What will be the corresponding 55.

sequence of the transcribed mRNA ?
(1) AGGUAUCGCAU
(2) ACCUAUGCGAU
»\ (3) UGGTUTCGCAT
UCCAUAGCGUA

56. Match the items given in Column I with those in
Column IT and select the correct option given

below : -
Column I Column II
a.  Proliferative Phase i. Breakdown of
endometrial
_ lining
b.  Secretory Phase Follicular Phase

ili. Luteal Phase

M i i iv
Q i i i
@ i oo

(4) iii i ii

Geraumaareuppiet  guuignGamn® Qs pme
arg) ?

(1) Quids wrugn

(2) 2wisd wrue

(3)  @enwiiy wirLgy

(4)  Qeswdu@ wrugm

2% Quarafgeoiwu X  &CrmGurCsmblen
X- Qoaruy Cpriheiu smeflser o arar@safl
2gmar SABES soawpanuie Qumuetser wri ?
(1)  aerser LD

(2) Gurldrerarser oL Hib

(8)  waerseT WL FLb

(4)  ser WHYD weaTs6T

b Gsm i offed Ly uflarmosdlear Qewopan
wimg) ?

1) ve ugflaw Heforhpriser

(2)  unGsmpp rYUTEsET

(3) smCLayerser

(4)  adwere; Heiorhpriser

26 geller @hyon @ewpde sdar wflos
AGGTATCGCAT arefled, LigQu@ssiiuc L mRNA
afle iger Asmiyew aflens g ?

(1) AGGUAUCGCAU

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) UCCAUAGCGUA

EpsamLapper sflurar ela owus Csib0s@ss
Gsred Iwppw Gsned -5 Qurmss awss :

CQsradl I Clar@d) 11
a. Qumés Hlea i ararGLr@o fuw
UL fagsd
b. ars@En Hevew . Sundgent Hew
c. wrgefLmi iii. gmtiqwed Have
a b c

(1) iii ii i
(2) ii iii i
3 i iii ii
(4) iii i ii
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57. In which disease does mosquito transmitted [ 57. erpGpL Qaraeiermed sLgsUILI{HL
pathogen cause chronic inflammation  of pi@repudfudend  Hembi prathlsefley  preTULL
lymphatic vessels ? <phé apuBssdng ?

(1) Elephantiasis (1)  eredsGuaniguimélen
(2) Ringworm disease (2) MAreuid Cpmi

(3) ' Ascariasis (3) scvanflurdlen
(4) Amoebiasis 4) <Beuwrdey

58. Which of the following is mof an autoimmune > ‘5‘23(2““““@@"“ ag ‘gen  efiiy  Cprt
disease ? gl
(1) Psoriasis @) Gg”m""@d" )

(2) Alzheimer’s disease ({23) :ﬂg’m’gm”_q’!’"u". -1
(3) Rheumatoid arthritis 24)) @Qm-l_:;u(;@ YP@TLigD
(4)  Vitiligo , SR
59. ure suprs D Curg s sl LE5E! gl
59. Conversion of milk to curd improves its b eaul L Iflcn BieTay 2 fausre sSsNssns
Ell‘;tri?;-):lal Yalll)xe by increasing the amount of 1) e e D
itamin
2 L fe
(2r) Vitamin By, (2) aeeuBer Byg
(3) Vitamin A @ opp Bk
60. (a5 Qsgblsafidn (pemenmhis TSl
60. The similarity of bone structure in the forelimbs argubLeLdd 2 dTer @hgien TEHE
of many vertebrates is an example of TB&HEST_D ?
)/ Homology (1) Gapmoregd
Yy (2 Convergent evolution 2 Ehfioma uflarmon
(3) Analogy (3) e
(4) Adaptive radiation (4)  suwe ureud
6l. wveafisaflar @Qrssaias urppbufiugens  sflum
61. Which of the following characteristics represent SarsEag o5l ?
‘Inheritance of blood groups’ in humans ? e
a. fHeop Gurasd
Dom.ina'nce b. gieew Gurhsea
X Co—d(.)mmance c. e GG SieSoser
9 Multiple allele d  @oplumtsd
d. Incomplete dominance X e. L wyugs LTgbUAWD
e. Polygenic inheritance’(
> (1) b,cande (1) b,cwpybe
(2) _b,dande @ b, dupgidie
- pand’e (3) a,buwpmbde
(4) a,cande (4) acuppde
g 62. affiflee uflermogSlneE QaTH&asLIL

62. Among the following sets of examples for (D55 EET_ (RSN SUDTRTS TE! ?
divergent evolution, select the incorrect option : (1) weflsen, eueiemared  LHHID Eszmedl
(1) Forelimbs of man, bat and cheetah (pSTETBISTED)

(2) Brain of bat, man and cheetah 2 me'?.ummné‘o, LD:?E"’?T LD!:DQ’L.? ;ﬁg’n;ﬂmm tpenay
(3) Heart of bat, man and cheetah @) mmmmfm' LD, HeT @DQ_'LD .‘5 BNeAAT @5 u_|-|1
(4) 5L U6, eueiaTeITE LODID weafgaier set
(4) Eye of octopus, bat and man
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63.

65.

67.

3)

Match the items given in Column I with those in
Column II and select the correet option given
below :

Column I Column I
a. Eutrophication i.  UV-B radiation
b.  Sanitary lan ii. Deforestation
c¢.  Snow blindness ii. Nutrient
enrichment
d. Jhum cultivatidn . Waste disposal

a b c d
1) ii i iii iv

i iw i i
3) i i iv ii
@ i i iv iii

All of the following are included in ‘Ex-situ
conservation’ except
(1) Wildlife safari parks
( Botanical gardens
Sacred groves

Seed banks

Which one of the following population

interactions is widely used in medical science for

the production of antibiotics ?

(1) Commensalism Q0o @

@ Parasitism
Mutualism

(4)  Amensalism

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the

drug “Smack” ?
(1) Flowers

(2) Roots
(3) Latex
(4) Leaves

63.

65.

66.

Spsam_cuppier sfwrer deLeows Csibds(ss
Qsred I wppw GsnEed -5 QurBksd aws s :

s I seb 11
a. W ACm.94Csager i. UV-B sdli ofss
b. dLsfle Qeran® 1. srPfsse
srpayblogms
Brtige _
c. uefl Gm@E iil. oar L C@ UM
Wlenseno
d. g LINGs® iv. sfley Guereameio
a b c d
(1) ii i iii iv
(2) iii iv i ii

3 i iii iv il

(4) i ii iv iii

Yereumeuaraipmier ‘CoupdlL LimgasiiLy’

PODWDVTSS a5 7

(1) euer e geumfl yhisr

(2)  sreugellwed Lymism

(3) GCarelp sr@ser

(4)  euemg cumd

wmbadeflweley peTgeuwLninsd LEHHSS®ET

swrflss  eeucmsunar @asbsTas o pejwpen

vwetLREng ?

(1) gordearss 2 pay

(2) gUPeared 2 pey

3) udibapey

4) eflar ofley sal L anfl 2 pey

S BT ige cuaT(hLd mensbsransude

(1) Qe@umss Hlereuler odrer puisEmer 6l
e Qandumss Hlaeudd o dtar HLUTGE
SFsb.

(2) Qelumss Hlavaulld 2 drer HLiGEHD 6T
Qe@umés Hawwlld oder  pLTSEED
FIDLONE 2 GTETENIT.

3) Yo QeGumss Hleowuld oérer puisemen
L. @enQumss Heoawlld 26rer HUiEET
Gope.

4) @eQuméss Bmeuld zerer puismer adl
a1 @endumss Heveudd o drar BHLITSET
GODay.

urind Qeguler ahs LEH “GvCws” erarp Curas

wmpos swrilés LweaTuRSnsg ?

(1)  weaser

(2)  Gaurrser

3) Ceolisev

4) Qeaser
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68.

Hormones secreted by the placenta to maintain
pregnancy are

\ .,(»rf) hCG, hPL, progestogens, prolactin

69.

()
3
(4)

hCG, hPL, progestogens, estrogens
hCG, hPL, estrogens, relaxin, oxytocin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELI’
(1) blocks estrogen receptors in the uterus,
preventing eégs from getting implanted.

is an IUD.

increases the concentration of estrogen and

(2)
3)
prevents ovulation in females.

M\is a post-coital contraceptive.

70.

The
spermiation is
(D

difference between spermiogenesis and

In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

69.

70.

smiaypneme LFTofés GeaTrearralmd &iésru@h
anmiGorerser wremal ?
(1) hCG, hPL, yGrrQgavL GLmger,

LCrmemdsig air
(2) hCG, hPL, yGyrQgavr GLmage, mreivigrae
(3) hCG, hPL, mevqyger, Mersder <&
245 GLnméler
(4) hCG, yGyrQgevL GL e, Freiviq Taen,

&En&ECanamiigsmi Heer

‘erGamed)’ aretm H(HESML ETHETLD
(1) smueuulguder meivig Tamer ahsmen .
wEPsE SGHWL@L LFusms 5HADS
‘2@ 1UD.

Queraefler rreiviqyeer iameney Biflafseg)
e Qse Qevellungee sH&SHmg).

(2)
3)

(4)  yewriggus@ Yer LWETURSSUILIBLD
S(HSSML SNSETD.
L@ UG el avg &b

av@QuirfCuesensEn @il o erer

Caumiun@ser ergl ?

(1) ew@Quind Curdgeidevedies ev@LIMDTL i Hs6
2 meundlenper; dv@QuimiGuageflc
avG@umoL L Cameundsar o (meurd e ear

(2) In spermiogenesis spermatozoa from sertoli (2)  @EunACuTAgaifevalia QerGLrme
cells are released into the cavity of Qa‘amaﬂgoﬂ@'r_r)g‘j GTDQL_JULDL_:GI_ITGEHQJW&&GT
seminiferous tubules, while in spermiation Qeflefl2GLipsh @pafigyer
Qauafudtiu@denmer; awQunfGuaseaied
spermatozoa are formed. . . Shy ;
: ; P : ev@umol GLrGsreundser 2 (meundlemmer
( .spenfuogenesw .sp(?rmatozoa are‘ formed, 3)  SAuIACUIGRafeaio
o while in spermiation spermatids are aQUInoL L Gsmaunsasdr o (maurd dnpar;
formed. av@unAGuageid d@LMDI g Hiser
(4) In spermiogenesis spermatozoa are formed, o (Heundlenmer
while in spermiation spermatozoa are (4)  ewQunACUNEnafléevese
released from sertoli cells into the cavity of av@uirol L TGsFmeuTéser 2 (Heurdlemmner;
seminiferous tubules. aQumnfCuegaie ev@uiol GLrBsreuréser
QeflaflQuien @ Lpeflger
71. The ammion of mammalian embryo is derived QausfuliL O GBeimer
from 71.  un@nigsefier &(mHeSlgyeer < baflwre
(1) ectoderm and mesoderm aapfdiGe AsramiuGang ?
sesodanio and trophobidst (‘1) er&GLIGLmMb whHpd BCsr@LirD
(2)  BCer@Lid whHmd Gy CumAammevL
(3) endoderm and mesoderm g it s, o
.3)  aa@nmCLr@Litb whmpb BCerQLib
(4) _ectoderm and endoderm (4)  eHGLIALMD wpmib erenGLIALfrb
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72. Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Pleurodont, Monophyodont, Homodont
S)M Thecodont, Diphyodont, Heterodont

(4) Pleurodont, Diphyodont, Heterodont

73. Which of these statements is incorrect ?

(1) Enzymes of TCA cycle are present in
mitochondrial matrix.

’)@ Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(8) Glycolysis occurs in cytosol.
(4) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

74. Select the incorrect match :

\ Lampbrush — Diplotene bivalents
i chromosomes
l; (2) Submetacentric — L-shaped chromososmes
chromosomes
(3) Allosomes — Sex chromosomes
(4) Polytene — Oocytes of amphibians
chromosomes

75. Nissl bodies are mainly composed of
(1) Proteins and lipids
(2) Nucleic acids and SER
(3) DNA and RNA
(4) Free ribosomes and RER
76. Which of the following events does nof occur in
rough endoplasmic reticulum ?
(1) Protein folding
@ Cleavage of signal peptide
(3) Protein glycosylation
(4) Phospholipid synthesis
77. Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polysome

(2) Plastidome

(3) Polyhedral bodies
(4) Nucleosome

72.

73.

74,

75.

76.

71.

wefls Lde@mblmu elasEh Gdser wrea ?

1
(2)
3)

(4)

S&CaTLTEL, @LoeeuGuimL e,
CaprGum_mer

w@sGrrnar, GoramenuGuim e,
CapnGum_mei

$&CamLmen, el o.anuGuim_mrer,
Gant g Grm_mer.

YepCrmme, enLaeenuGuim_mer .,
Gant g Crm_merL

Gereumbd sappsaiies saupreng erg ?

(1)

(2)

(3)
(4)

TCA sypéludenr Aprdaer el Lisremgum
wmAgedld 2 drerg).

@apLrge as@eT gn@ NAD sser
BméEb aenr Seararaldlen Hlspb.
Savananeldlen enal CLrenaller Hapdng.

up el Lraresrig Al seualler psfGLL g6l

urevurfiGaager Hagb.
saiprs QUIGESYeTer @earow Csibasd :
(1)  embndgev - gUGarmie 6
&GyrCurGambaser aLICeuean(HaeT
(2) &p QuiinrQsergfs - L- augeu
&CyrCuonGamibaer &CyrGurGamb
(3) sCanGembaser - umred
&CrrGorGsnbser
(4)  umedledr - @meurpaisafler
&CyrCurGsmbaser sarengL (HEET
Hleverled 2 piiLsefled @U(BLOLITETELOWITS
sreliu(heug

(D
(2)
3)
(4)

Yrsmaer ppb llsGser
A syflew wppd SER
1g..GTEHT. 6T LOHMLD <4(T.6TEH. 6.

safllss erCunBsmbser whpib RER

Genmeumd aps Hape) Qem@eryiurer sslbenms
aemaaraid (RER) flaspadlsdane ?

1
(2)
(3)
(4)

L78 Wig L

@hles Quiien_[Baafler Yarey
4rs HeverCamélanssid
urevCurelid® 2 (heunssid

veuy  urdQuueL@samer @Gy sowsed
o maurss L @rGunGembser @ MRNA e
Qaerub. ssmsn Gsrii erGurGerbaefier

Quuwir

(1) wreSIGambaer i
(2)  QarrevigCLmbser

(3)  urd@anL 7éd 2 miLiLser

4)  PusefGurGeribaer
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78. Ciliates differ from all other protozoans in 78. Gp UG CLGsraunssefdmhs FSCGLLHat
(1) using flagella for locomotion assmanssme Caupu@seper ?
(2) using pseudopodia for capturing prey (1 @LQuuiessts feflapsmar LLETLESSID
(3) having a contractile vacuole for removing 2) Qeyaws GuouspE — Cumdlsmdsme
excess water LweTLBHSSIb
@ Thaving two types of nuclei (3) BSeos pay QaaiCupp s@HEG HETES)
W Qup P BEED
79. Identify the vertebrate group of animals 4) @ran® emswurer e smmea AUDHGSESD
characterized by crop and gizzard in its digestive
system. 79. Qsfwrer  LaTLOSSHD SafliaL Hoil
(1) Amphibia Sieraalieuau 2oL Wwetsabidser ag ?
Aves (1) @maurpeladr
(3) Reptilia (2) geuav
(4) Osteichthyes (3)  eaifeuar
. (4) SyevesSen
80. Which one of these animals is not a \
homeotherm ? 80. Gerapaaapper Gawu @rss  Gymenflwm
1N ?
(1) Macropus ke T
(1) wrsCrmuev
(2) Camelus (2) CsQuaen
(8) Chelone (8) &Qameir
4) Psittacula e
81. Which of the following features is used to identify 81. %W Wu”_"“‘éi’m“m m{b@m Qe le’“""
a male cockroach from a female cockroach ? ysflawar LTS (pedd serL Hluied ?
(1) Presence of a boat shaped sternum on the 1) Y-y "‘WQDQ’ s@m e ULG el
9™ abdominal segment qul_"mw ammgirrw ]
(2) Forewings with darker tegmina @ @fmm %ID i ol SR RTINS
o Grengm
b M Presence of caudal st?'les ®) e AP s drensned
(4) Presence of anal cerci (4)  weL@ps QsTbLsdr 2 aTETD |
o m;;‘;gﬁisfi‘flfwmg animals does nof undergo| gy \Qarepesereippier  auart  eHOTHDD  Hapl
: flews detig agl ?
(1) Earthworm )
1)  weryw
' = (2) <psl yss
) Tunicate @) puyaiGsr Baer
(4) Starfish (4) EL&(&:’,QU Ber l
83. ‘;Zl}il:;,h fdtu};zrio%:?&i:%czﬁzn‘isms are known as | gg, QuErsLdsaid &S aﬂ)ug';;@mrrmryé
/’)n 4 s@suLBL 2 u@flser ag ?
\ e e (1) oL Gam.demagaGar (e
(2)  Cyanobacteria (2) swCarmunéeMursser
@) Diatoms (8)  LwiLibser
(4) Euglenoids (4)  weetarmiipser
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Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased
respiratory surface
(2) Increased respiratory surface; .

Inflammation of bronchioles
(3) Increased number of bronchioles; Increased
respiratory surface

Decreased  respiratory

Inflammation of bronchioles

surface;

85. Match the items given in Column I with those in

Column II and select the correct option given
below :

Column 1 Column II

Between left atrium
and left ventricle
Between right
ventricle and
pulmonary artery
Between right
atrium and right
ventricle

a. Tricuspid valve i.

b.  Bicuspid valve

c. Semilurdar valve

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column I
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume i

b. Inspiratory Reserve ii.
volume
c.  Expiratory Reserve iii. 500 — 550 mL

85.

eugior  Hmbd  erbe@foreld  menguiyeler

Hlevawerw wpapCu eflwirs GHuug eg ?

(1)  GyrereraCuresefle spHdl gnuBSw; Feuns
Ul Genge

(2)  sarsturiy o sfsse;
WrrenenaGuirdsetles sphél ahuBsH

(8) WGrremensCuincvaean eratranfisbens
28l fgse; seurs Ll sdafssd

(4) seare uTiy GaDs®; WrTarasGurdsefe
spHél gHuBsD

Epsan_cupmier eflwrsn e emws CoibOs0 S8
Qsrad I wpmin Gsred M-8 Aurmsd awas :

Glared I Qsradl Il

a. walsp eurdey i @Lg glflwbd wpmpibd

AL gl QeuarigMader

Qe uled

aueg CQeuarigfadler

wHpb Heorlred gwaf

Qen_uled

c. Seoreul L eureey iil. aeg erMwib whHmib
cuegl Qeuairig Médler

b. @@esw eurday ii.

Qe uled
a b c
() il i ii
(2)- i i iii
@) i ii ii
4) i i iii

Epsar_eupmier eflurer e amwus CsibOsdssl
Qsred I vpyid Gsred II-g Qurmsd ewes :

Qsmad 1 Qsmadl 11
a. epgerey i, 2500 — 3000 mL
b. o erupsss smiuyg i, 1100 — 1200 mL

Coss8 Qamdrererey
C. UnSeuns @giésd iii. 500 — 550 mL

volume Qarerererey
d.  Residual volume iv. 1000 - 1100 mL d. g Qsrereraray iv. 1000 — 1100 mL
a b c d a b c d
(1) i ii i iv (1) iii ii i iv
2 i iv ii iii (2) i iv i iii
(3) iii i iv i (3) i i iv ii
(4) iv i1 ii i (4) iv iii ii i
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87.

88.

a)

89.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1)  Chief cells

(2) Goblet cells

(38) Mucous cells

(4) Parietal cells

Which of the following is an occupational
respiratory disorder ?

(1) Anthracis

(2) Botulism

@. Silicosis

(4) Emphysema

Match the items given in Column I with those in
Column II and select the correct option given
below :

87.

88.

89.

|
aflgCrrGumudlevd s LODAPHLONE a,s*
srevl_fé Qedaer g ? N |
(1) &3 Qeevsar N »
(2) Csruel Qe o) ‘

3)
(4)

Bysasey Gemser

uerlL e Qeeaer

Gereumeuaraupmier arg Qsmflad Qsmiurer sl

Camermy ?

(1) ypdardled
(2) ur@elen
(3) &ACsrélen
(4)  eroLblGl&DT

Spsar_euppidr sflwrar oL ows Ggﬁ;‘r;@g@i
Qsred 1 vppb Asred II-g Aurpsd awss |

Qamsd 1 CQemsdl 11
a. SeutifGermger ' i eyevbm s swafleog

Column I Column II
a ' b. @Qermyefier il. @rssb 2epsd
a.  Fibrinoge: Al Osmotic balance - = :
C. 4L |Lblehr il urgsmiy qu_ld)@anm‘l
Globuli ii.  Blood clotting |
c. Albumi iii. Defence mechanism a b < ‘
(1) i ii i ‘
@ a" b 3 (2) i iii il
\ s Lo : @ i i iii

@ i @i |
v he (4) ii iii i

@) i ii iii l

4) i ii i 90. @by soE HHREGSSO D STOAWLD WEHw uaj

auélsd) arafled
90. Calcium is important in skeletal muscle e ‘
contraction because it O @CCunafigar Qaasi, ‘
. WSS Ig(h&E D ewlurdleissmer
N binds to troponin to remove the masking of o Qeufic i |
active sites on actin for myosin. suadiper ugdsemar AaialiiLGsEAD g"‘

(2) detaches the myosin head from the actin R L .mmmlu' “BEu

filament. Qewsaidmig GNsdpg.
|

(8) activates the myosin ATPase by binding to @) ewGuréler ATPase sLdn Gevamps Bees
it. QewouBssdng.

(4) prevents the formation of bonds between (4) QuCurfler GREE @eerriL wHDID Bdigl
the myosin cross bridges and the actin QaysaiaiaCu gpu@b Gemeriiysemer
filament. 5068g!-
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91.

92.

93.

A metallic rod of mass per unit length
05 kg m™' is lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0:25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 7T14A

(2) 1476 A

(3) 5-98A

(4) 11-32A

An inductor 20 m¥¥ a capacitor100 uF and a

resistor 50 Q are connected in series across a

source of emf, V = 10 sin 314 t. The power loss in

the circuit is

(1) 079W L= gl

(2) 2:74W : e

3) 043W e S
W A ——— v

4 1113W >

A thin dia.ma.gnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational potential energy. The work
required to do this comes from

(1) the current source
(2) the lattice structure of the material of the
rod
%the magnetic field

(4) the induced electric field due to the
changing magnetic field

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

1) 40Q () *{)
2 250Q =
\ 30
(3 25Q 9.~
4) 5009 /\)

91.

93.

94.

ot w06 forsfne 05 kg m™! RepQsnean. go
2 Carss sl gam, el sgLdar 30° stleys
Corengess@anam_  aupeupliurer  smnugaTSSer
By ALgsiul Qearargl. sflunarg ECpeiwssmoed
Qmss, Gostigss Hosk¥e 025 T srpsl
Legpgrarm & Gewdu@ssiur @, <iger aufiGu
WerGammLib umyibug Geiwtu@dpg. aafleo,
sfleoow peITOD  Heewrs @easHmEs s
PG umyb WerGarmL b

(1) T14A
(2) 1476 A
(3) 598A
(4) 1132A
e® Weagram, 20 mH, gm HarGssd 100 uF

ohob @@ BaseoL 50 Q gduer Qsmf
BearGe, emf, V = 10 sin 314 t &5 QeLCu
Qaemssiiul Gderg @ps sHNO FHLEL 2HDH
@poy

079 W

(1

(2) 274 W

(3) 043 W

(4) 113 W

e Saenss sk (paars@ssdar Gu
Qsiigssns Goaellu erdli &S

@assLULRetarg). Wearathge WerGarTiL orerg)

SAGLHSSILLL gD, @OLLLL STHSY LsHd

adir  spssslfl CuoaGpréd  seaertiu@Epsg.

aenGey sflwrerg mivy  Beablee yppeL

Qupiélng. @spE Csmeawrar Ceumaamw Qe

508l

(1) Ber epatd

(2) s PQeuwiLC Berer Qunmefer
<afl&Carenéy &L Lol

(3)  ampsliLjeLd

(4) smpst Yo LIHDSSHeed gramLiL@D
SlerLjeotd

em Quiig s&mer sroaGam S fer

BerCarmL. oewiey mrub 5 divmA wHmibd

Seranipss oeriey mrub 20 div/V  eaafle

sreveuGer B Mer BlargenL

(1) 40Q
(2) 250Q
(3) 25Q
(4) 500Q
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95.

97.

98.

An electron of mass m with an initial velocity
=
V=Vyi (Vo > 0) enters an electric field

A
E =-E;ji (Ey = constant > 0) at t = 0. If Ay is

its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

Ao
& [1+f}_30_tj ‘[\’}(\/
mVy @
(2) Apt
@ A (1 + ;E;; t)
@) A
For a radioactive material, halflife is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in éninutes) for the
disintegration of 450 nuclei is\

(1 20 oS 2

@ 30 A\ \Afﬁ/
W il

@ 10 "

4) 15 ’/'

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to vy is

—

@12
(2) 4l \
3) 1:4
4) 2:1

\& )

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

I & afz LN+ mqn
@ 2:-1 3

@ 1:-1 4F = v +3h/
(4 1:-2 == =

97.

m-flerp@aramL @ a@sl e,

=

V = Voli\ (V> 0) aranp glouss HewsCaussdo,
ﬁ

t=0 fwedds, E =—Eyi (Eg= e >0)

Beryosdaer Heowdpg. gleusssdd A, eng

e19yrse sieafard arafld, t Crrsdd wumrsed

Si@maberd

P

[1 v 25 t)

mVo
(2) Agt

ek
3) Ayl 0.4
( 0[ +mV0 ]

(D

@ A

g sHflussd QUIHEEEES, @7 LT &4
10 AL tuser. slausesdd BMmps SensHHESET
aamafiisems 600, arefld). 450 SiEIsSHHEE
Seogaip @D sTob (BBl sdd)

(1) 20
(2) 30
(3 10
4) 15

2y @i iQeuetr Qamaim (vy ereug) Lwer Qs
@frQauar) gafl e 2 Curs salyer Bg L
Gurg, elprudb aCesigreasaiar  Qug
HewsCausd v; uBsdflar adiGeaudr 5y e
ofsfssucimd, <G selgar  SHm
2 0PLU@L aCesL Fresetier Quqp HesCGan
Vo, @rafldd vy mpgl Vo Hamar oldsn

(1 1:2

(2) 4:1
3) 1:4
4) 2:1

e rser ignelar em Gurt spHlaierer ¢
aQesrreflar  @Qués  Op@ISE@GL  Gom
S HOYIGG DT F56

(1) 1:1

(2) 2:-1

3 1:-1

4 1:-2
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99.

100.

101.

102.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
| )
A
3
(1) ED
7
2 =P
(2) 5
3 D
5
(4) ZD

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ® about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation
(1) Wg>Wg>W,
(2) WB > WA > WC 6

A > WB > WC

4 Wy>We>Wg

Which one of the following statements is

incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Frictional force opposes the relative motion.
(3) Limiting value of static friction is directly
proportional to normal reaction.

(4) Coefficient of sliding friction

dimensions of length.

has

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When

101.

102.

slausssded pueflaoligiera @@ GurmeTTarg
h-LuJU(&QG\S]@E% 2 gmieuhp uremsuler (LG
sriqwern) SPnmd e OCsmsdsrer eulL
sheom (pigsAng. eulLF spler oL ib AB =D
eresfley, 2_wimid h H& swwrerg

B

(1)

@ =D
3) D
4 =D

eperm Qummerser A @ (@@ S Caretd), B : (gm
Quadw et al @) whgw C : (@@ eulL
cuanemwid) geuGeurarpid @Gy ety Hleop M
whmd  <sd R Qer@riemeiwun@h  &wEsit
aFmstiupfl @Cr =jatey GamamdlansGasd ©-
spddapear. seupan @ue@RESE CsTeT®
aumash® Csmawrnar Came eray (W)
wilueu UirsHAsiieugparear Ggm iy

(1) Wg>Wg>W,

(2) Wg>W,>Wg,

(3) Wu>Wg>Wg

(4) Wy>We>Wp

Qemeugsd sapiled eTg) Saummeg)
(1) 2 mEpb 27mlie] aWsESh
2 JrieneusaT g @i SAbluig.
(2) ogmiey Aeswreng sy Qusssms
Tl T&5ETm g LIg).
(3)  Aevev 2 gmieflar euybyy wHiiy CrirEss
adreflenans@ Crprelfst QurmsseLwg).
(4)  auwsE 2mled Garsh e S Gamars
Qaneim._g.
m-flepCaram.  pamh COsmEly @eétm  4m
BlepQaran.. Hoowrs oder Qsreuder g
Cungiflpg.. Cursausels WGer Hen@ampeurer
QMm@ eueflownssE amndng. Hop@gmpeurer

the initial velocity of the lighter block is v, then QsreiGear  gess HwsCasd v aefl,
the value of coefficient of restitution (e) will be Aol flé Gasb (e) ér iy
1 05 (1) 05
(2 08 (2 08
(3) 025 (3) 025
(4) 04 (4) 04
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103. The volume (V) of a
its temperature (T),
ratio of work done

(D

(2)

3)

(4)

104. The fundamental frequency in an open organ
to the third harmonic of a closed 104.
ngth of the closed organ pipe

pipe is equal
organ pipe. If the le

Vv

!

G| W Wl o o

monatomic gas varies with
as shown in the graph. The
by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

103.

Qm LoD g amyelar ugn (V) wrour®
oper  Qaiufleeeull (T) QurmsssTe
worCar® ULH® smiLLuBaerg. uLgdlé
foo A W®Ds feox B pE wimbd Gurg
aumyefenmed QetuiucL Couamas@h, SASTE
o I sauruul L QeautiugSp@oner S66

Vv

!

(1)
(2)
(3)

(4)

i @i Wl o

@ Hops Biser Gpmuden gL <8 ieua
&g RO P <2, T& 6T @pmuller ST
EfessGs FLLNGD. Pyl spisar @pruder Her

is 20 cm, the length of the open organ pipe is

1) 132cm 20 cm, rafled, HnHS =TSN @wprudlen Beid
@2 125cm G AN
4) 16cm (@) @em

(4) 16cm

105. The efficiency of an ideal heat engine working ] ) e
between the freezing point and boiling point of 105. fifler 2 @pHloau yerefs@gnd — Cardflao
water, is Lerefla@n @ Cu QeuoLldd @ Qo
1) 26:8% Qauiu GupBglen Hpar
(2) 625% (1) 26:8%

3) 20% (2) 6256%
@) 12:5% (8
i (4) 125%

106. At what temperature will the rms speed of . ) . )
oxygen molecules become just sufficient for 106. eps Qm?“@“"’"”—q’m ) %g’agm PSS DTEE
escaping from the Earth’s atmosphere ? Heﬁug}‘ﬂ@f!@ G‘QQU‘—@f Qsaas Cpeaiumar
(Given : Gausg@msls QD o
Mass of oxygen molecule (m) =276 X 10728 kg (padigger s Hlan Povp (m) = 2:76 x 10~ kg

et Curér dCoar wrhe kg = 1:38 x 1023 JK
Boltzmann’s constant kg = 1-38 X 10 JK™) g TN
; Qer@ssiul_Berarg)
(1) 2-508x 104 K (1) 2:508% 10*K |
@ 50l 104 K (2) 5016x10K |
@ gaBox 104 ® (3) 8360x10*K
4) 1254x10°K @ 1254x10°K
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107. A t(.)y car with charge q moves on .a frictionless 109 Spver iy B & grassdine o bisigreis
horizontal plane surface under the influence oﬁ)a Qanar_ @@ Qumben smTers 2 gmicby SHeorser
uniform electric field E . Due to the force q E, -
its velocity increases from 0 to 6 m/s in one "'”ulﬁdf' By psidpg. q E 15’9“’5“9“"@ 1 eflarmg. <G
second duration. At that instant the direction of jﬂ:i :):yﬁw %:.&G;J:f Q;\)) G&Lé?;rgm .Gﬁdl:/s Q&%
the field is reversed. The car continues to move w"ﬁ)mGU(Bg;ﬂD)Z: @;f - w:ﬁ & grd 5‘; gfb -
for two more seconds under the influence of this QsrLisg Cogib @ran( edamoser psi@pg. aafd 0
field. The average velocity and the average speed Smps 3 Aamgsefie srflar smefl dasGeusd wHmD

Gbgl ol
of the toy car between 0 to 3 seconds are synef efleray
respectively (1) 2m/s, 4m/s
(1) 2m/s, 4m/s (2)  1m/s, 3:5m/s
(2) 1m/s, 35m/s (3) 1m/s, 3m/s
(3) 1mfs, 3m/s 4) 15m/s, 3ms
(d) 15mls Smis 108. m-flevpQ@arar Qzm@ii germ 0-gmieysCamenrd

108. A block of mass m is placed on a smooth inclined %M‘m" ABC adip aupaipuirer smugergglen
wedge ABC of inclination 0 as shown in the gl aussILIL GG ULEED STl L (e,
figure. The wedge is given an acceleration ‘a’ SRS S1Q0LDIeS ‘@ sere; PES&&D
towards the right. The relation between a and 0 QS”(B“&UU@&DQ' " Asrguy  smusasdanSs
for the block to remain stationary on the wedge foeuns, Golughsie a oigh 8 b6
= ® Qe Guuwirer Qg

A A
2 2
a
B ] o
g
: g @) a=
e cosec 0 cosec 6
(2) a=gcosH (2) a=gcosH
g
g 3) =
@ a=_Eo @ =g
(4 a=gtan® 4) a=gtanb )

109. A student measured the diameter of a small steel | 109 86 :g,"m@"dsmﬁﬁ’mm"“ 0301 cm Garain §GE
ball using a screw gauge of least count 36" LI M%Q’ 86 _Aflu @@:;]'jg (R
0-001 cm. The main scale reading is 5 mm and SRS é‘gm prtt. A@S sier d"‘g g‘"
zero of circular scale division coincides with Siera] wf "('g” Gmm wHYID el agm et er
25 divisions above the reference level. If screw gg@u_:rrangl m‘?ﬂ sty B CL gy 25 AR EiaE
gauge has a zero error of — 0:004 c¢m, the correct 18 POBSDETHEIETET. 5)@(‘5. ‘9.'6“@.9
dintiotor ofthioballis - 0:004 cm sfiGenp Qsramig aafled, Grigan
@) 0591 em Fflwmrer e (b,

(2) 0:053 cm (1) Casdiem
(3) 0525 cm (2) 0053 cm
(4)  0:529 cm 533 0°525 cm

4) 0529 em

110. The moment of the force, F 4 i+5 J - 6k at . . - - -
(2, 0, — 3), about the point (2, — 2, — 2), is given by e umqﬂg’ o, R 3 a:' lefﬂ 2,~2,-2) ghluraiy.
(1) —8/i\ _43-‘ _71’; Means F = 4i +5j —-6k HETeT 2 hSEMBS HHELE

1) - 8 —-43j -7
@  —7i -8} -4t M 81 -4] -7k
N W A (2) —71—-8J —4k
3) -4i-j -8k (3) —41—3—8k
@) ~7i-4] <k @ -7i-4j -8k
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111. Unpolarised light is incident from air on a plane

surface of a material of refractive index ‘Ww. At a
particular angle of incidence 4, it is found that
the reflected and refracted rays are
perpendicular to each other. Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(@) ie=ein [l}
[

Meﬂecﬁed light is polarised with its electric
ector perpendi¢ular to the plane of

112.

incidence

@ i= tan‘l(-l—)
n

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. Itis found that the
angular width of the fringes is 0:20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1) 1-8mm
- (2) 21mm
(3) 19mm
(4) 1'7mm

113.

An astronomical refracting telescope will have
large angular magnification and high angular
resolution, when it has an objective lens of

(1) small focal length and large diameter
(2) large focal length and large diameter

(3) large focal length and small diameter
(4) small focal length and small diameter

. @@ we @il Geray uﬂ@&ngm@r':i?
6

. o aralud gafdlase Qg mened Gpn&é\mnma

111. ¢ geflcfasd aanbsrdr sos6 uruQer Bgl
sTHHSBHS RO seTelloeraipm @au@®Eps. &
AL LBCsTamd -8 Qrauduy sHwm
Hassdnn gapsdsran CskEssTs @mLiu

saLAutiu@Epg.- Bpss Gphl@wss

GerumeuaeupBley cThss s HmI sflunerg

(1) Qriuediuy gafl 2UBET
QeusLmemmer URSTEANEG Benamdansud
seralleeTaymid

@ i= sin"l(l)
u

(3) Yrdueiiy gafl iF6T Blereflw
QeudLmpLaTmer upseEdNEG QoGS
Hensufer penailaeraymid

4) i= tan "t (l]
o

QearesEnsE el d seg 2

LuaTLESsLLGD geflulid seeferd A = 589
wpgn  Sersed  GaasEn @lan LI
Gsrevwa; D @1 gy 100 cm. eueneTwiiseEfd
Garan wsob 0:20° 2Cs A wppd D wHUbHE
Cananr  ssosms 021°  jeray 2i$lafléa
Qeras@néhE Qe Qsreraaile Gemaiwis

LOTHDD

(1) 1'8mm
(2) 2-1mm
(3) 199mm
(4) 1'7mm

ofs Caram 2 HUEALGSSEPD, e uwir Gsnd

e aied QaramgpEs. Siger  QUTGSTH]

eflemewimans

(1) @opps GeNussmh LLHHID s e
Qaranighés CalgmBLd

(2) @fs Gwsgb wLHYID ofls &Sl
Qaneimg.més Gouam(Hid

(3) «=fs Eeusgmb LHYID Sflw L
Qs ey més CouamBLD

(@) eopbs GAUSHITD LHDL G@DEE oL
Qamerrig(hés GeudstHLD
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am sriuer WasoL (47 £ 47) kQ ag 2igen

114 A carbon resistor of (47 + 4:7) kQ is to be marked | 114. : ! ( : d
\ with rings of different colours for its o San_Bagbans aemen SI@ETLIS
. ; g 3 : @IS B  BieoLwmerd Loul Rerergl.  @)sen
identification. The colour code sequence will be cuamens GHUSCE auilenssdiod
(1) Violet— Yellow — Orange — Silver (1) earm - LOEHFET - BTEF - Qeudreafl
(2) Yellow— Green — Violet — Gold (2)  wgpser - LEwE - pargT - Qunenaiip
(3) Yellow — Violet — Orange — Silver @) Loenser— LB ~ RS ~ Gm‘_ﬂmﬂ )
; (4) Lsems - <yTEss - 2amgT - Qurenaipn
(4) Green— Orange — Violet — Gold
115. s ez R Qsrar_ ‘n-aanefsmsuionar
115. A set of ‘n’ equal resistors, of value ‘R’ each, are BlemganLaar Cpmi @eari9d R sisdagem
connected in series to a battery of emf ‘E’ and Qarangid B siere) emf Gsram giorer e
internal resistance ‘R’. The current drawn is I ij%";q .@mm;s &0LGH mg_!- or] w. a HMLD
Now, the ‘n’ resistors are connected in parallel to . ,W ; m_l__m 2O ,@u HTQgl
n’-ararenilsensudamer angenL_ger <Gz
the same battery. Then the current drawn from SersasgLar Lss Geemiidd @aamssiui L
‘ battery becomes 10 I. The value of ‘n’ is unys WeGarmi 10 I o fng eafd ‘n-er
(1) 10 @QUu
| @ 20 (1) 10
| @ 11 ) 20
3 11
1 @, 3 @ 9
116. A battery consists of a variable number ‘0’ of | 116- ?0 ‘—6]‘5'@‘_’5“’5 @WQU‘—"_’@“@ wIYUR TaTlsams
identical cells (having internal resistance r’ n-Gsmain lensehisearé GlameimBeTars,.
P < . . . ) .
each) which are connected in series. The (ngwgm@@ é'&‘ﬂfr;.m“""w X .Q&:"m_”—g’)'
terminals of the battery are shortcircuited and| s SET-1 @DamiIS Gmens . COTIE
the current I is measured. Which of the graphs i - . s a .&6'.T H ; :
h - T Yasid 02 WerGermLonang [ Slerssuu@ng. Gereumb
shows the correct relationship between I and n ? aerGsmqd aps gem 1 wppn  n-HEG
I e Cuuwrar sfwrer Qsr_ieu sramisdn
5 &l
o 1 I
o w 1
O :=»=n
I
(2) T i I
(0] —n (2) T i
0 —n
1
(3) T : I .
(0] —>n (3) T :
0 —n
1
4) T i I
0 —n (4) T i
O —n
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117. A solid sphere is rotating freely about its|117. @m SLsCaranorang eigdar Fo&éT sF@all Ui
symmetry axis in free space. The radius of the slgdar Quelle saelsmsurs sodpg.
sphgre is increase'd keepi'ng its mass same. <iser Hopow LIHHTOD Biser Th LI O
W}uc!l of the following physical quantities would < BsMEs0LEADS. e, BLsCamersasLs
remain constant for the sphere ? a o g ; - :

) UMBESLOL g 6) 1QemeumeuaTeuhiles b
(1) Angular velocity Qupue srreflwrarg wIPTLED BHSED
(2) Rotational kinetic energy 1) Carem HesCausid
(3) Moment of inertia @) sphd Guibs aHpd
(4) Angularmomentum @  SmuLsdper

118. If the mass of the Sun were ten times smaller (4) Csrewr 2 p5id
and the universal gravitational constant were
ten times larger in magnitude, which of the|118. Gfluafler flaop LSE WLBEG G@peTsaL, Fily
following is not correct ? wrflell usg LLEEG dswrsed eTeilgd
(1) Raindrops will fall faster. Qopsrd. Garaind ampilod oz saprenss
(2) Time period of a simple pendulum on the (1) vepsgaisar Causwrs SPprED.

Earth would decrease. (2) yle safl sasallen s @as Cprb
(3) Walking on the ground would become more SODUID:

difficult. (3) seqle pLlriug Waab Swwors GEEEh.
(4) ‘g on the Earth will not change. () yelluyinder By ‘g-er AL IDTF-

119. A solid sphere is in rolling motion. In rolling|119. @5 &Lé Cenerorerg e @ED @uésssled
motion a body possesses translational kinetic o dratgl, 2 (HERDd QuEasHe, @ QummeTag
energy (K;) as well as rotational kinetic energy @uuQuuie; @Quss whpd (K) wogio Sphél
(K,) simultaneously. The ratio K; : (K + K,) for Puss gppe (K) @rameLwyn 2CzCs158d
the sphere is QuHH BHSGLD. crafla, S &Carerzdnamear
(1) 7:10 K, : (K +K) ssay
(2 10:7 (1 7:10
@ 5:7 @ 10:7
) 2.5 @ 65:7

e kingtic energies of a planet in an elliptical 4 2:5
orbit ahput the Sun, at po§itions A, B and C a:re 120. gflumers spdeumd Baal GuresSEa @@
Ka, and K, respectively. AC is the major Gareflen Qués pn®d A, B upps C Seawsdo
axis and SB is perpendicular to AC at the wpopCu K, K wppd Ko =ss sfuer
position of the Sun S as shown in the figure. UL smniguany S- feoede @esss Gurg
Then 2 AC eramng Qufln gmayd SB ez AC-HE
m Crir @ssraa|b 2 aTerg)
B
A ‘ (0]
W % .
w
(1) Ky<Kp<Kg
(1) Ka<Kg<Kg
K
(2) Kp<Kp<Kg B Baxk; s
@) Kp>Kp>K¢ @) Ky>Kg>Kg
@ Kg>K,>Kg 4 Kp>K,>Kg
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121. In the circuit shown in the figure, the input
voltage V; is 20 V, Vpg = 0 and Vgg = 0. The

values of I, I and B are given by
20V

(1) Ig=40pA, Io=10mA, B =250
@) Ig=20pA, Io=5mA, p=250
(3) Ig=25uA, Ig=5mA, =200
) Ig=40pA, Io=5mA, =125

122. In a p-n junction diode, change in temperature
due to heating

(1) affects only reverse resistance
(2) does not affect resistance of p-n junction

121.

122.

ECyQsnPésLerer shble, o aref(®
Beraragssn (V;) 20 V, Vgg = 0 wpgib Veg = 0.
arafled, I, I opmid B e iy

20V
Ro S 4kQ
Rg &
Vi
" s00kQ B L

(1) Ig=40pA, Io=10mA, B=250
(2) Ip=20uA, Io=5mA, =250
(3) IB=25LI.A, IC=5mA,B=200
4) Ig=40pA, Ig=5mA, B=125
@ pn  spferCumgd,  Galiuuu®ssd
u@eustd ghHuBL Qeutiufleow wrHHD

1) Hrpudu Beasamiamw b Gb LUTH&EED

(2) p-nspHufen BagoL@w UTHEsTE)

(3) affects only forward resistance @ ﬁggggsﬁm L io{8ith
(4) affects the overall V — I characteristics of @) pn spSder ppuagorer V-1 eiinfiuens
p-n junction LndéED

123. In the combination of the following gates the|jog 5Cp  OGsr@ssuuL@eer  sissamdd  spp
output Y can be written in terms of inputs A and sewudd, o dd@sd A wpyd B parer sfurer
B ne QeuafS® Y
Ale— Ae—
(1) A.B (1) A.B
(2 A.B+A.B (2) A.B+A.B
3 A.B+A.B 3 A.B+A.B
4 A+B (40 A+B
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124.

@m sHwEunpellar ebmed sdiaiss P wpmiw

124. The power radiated by a black body is P and it a : 5 ea s
radiates maximum énergy at wavelength, A,. If ag;' U :fgi,ﬂ),mmw‘ o 2eoafasde dsfpg.
smw@urmeller  Gauflomawu, =z Qumo
the temperature of the black body is now ) 3 N Gt )
changed so that it radiates maximum energy at SRR 0 Sieeferkpsl Gashid. gppaip
wavelength é)»o, the power radiated by it wrpHlermed, dped sHieiss nP aenrdpg.
4 erafled, n-eir LHLiL
becomes nP. The value of n is 3
1y =
i 4 .
4 g 256
256 @ =5
2 —
81 4
(3) 3 3
81
W o ® 35
256 125. @Gy Qunmefiamed QeuwiurL @rer® sbdser
125. Two wires are made of the same material and 8C7 ieTay LGLen Asn@r_grsean 2 damar. (WHoH
have the same volume. The first wire has sbGWeér  BoEECL@uUTIY A wHmIb
cross-sectional area A and the second wire has GramLneug sbGlen @pis@Qaul Gy 3A
cross-sectional area 3A. If the length of the first B0, W sGuller Barsms Al siarey idshss
wire is increased by Al on applying a force F, <igen Bg ellens F Qeweou®ssiupéns aafld |
how much force is needed to stretch the second @rammeug sb@eowyd 2G5 eTe; Bligss
wire by the same amount ? Coeuwnar aflensulen <jereay
(1) 9F 1) 9F
(2) 4F (2) 4F
(3) 6F ¥ (3 6F
@ F 4 F
126. 100°C &, @uid 558 (1-013 x 10° Nm™2
126. A sample of 0-1 g of water at 100°C and normal g m.@mmunm HBEEAD ] ) L m
5 2 o earar 01 g wrdlfl Beoy edwns wopp 54 J
pressure (1-013 x 10° Nm™°) requires 54 cal of sGanflée 100°C Qi yppéd Csmacuing. |
heat energy to convert to steam at 100°C. If the @0 epusduren syedlar Lmoe 1671 cc
volume of the steam produced is 167-1 cc, the aafled wrHfuden =is SHD LTHUTE
change in internal energy of the sample, is (1) 1043J :
(1) 104:3J 2) 4224
(2) 422J (3) 2087J i
(3) 2087J (4) 845J |
(4) 845J 127. T-oyp Qerere @m Hflu Casrewres @ue)
127. A small sphere of radius ¢’ falls from rest in a ‘r_ﬂm.muS}oS]@f,gj 8@ umio Srasde & clgorg
viscous liquid. As a result, heat is produced due Qelwtu@Epg. 4 @55"7 efeeraute UMl
to viscous force. The rate of production of heat elemesudlemd Geuciuw ’L('BG’-’”Q,'D@" O,
when the sphere attains its terminal velocity, is woaws SmsCassms e btz Qaiu
proportional to e meunss ofg efflgl Qunmssd
@ @
@ P @ r°
3 1 3
@ @ r*
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128. An em wave is propagating in a medium with a 128. il@ Barsnps <o @6 aLssfa afGu

= A

velocity V = Vi . The instantaneous oscillating V =Vi fesCassfe uradng. Sbss saHa

electric field of this em wave is along +y axis. Hersmps sewodar  Bdued +y  SEAD

Then the direction of oscillating magnetic field of S@apdpg:. Talid. HASOUD STHED HOE Ben

Hevs

the em wave will be along

Ak (1) -zdesl@e
1) —zdirecti

- Y (2) -y Sasule

@ —y direction

i 3) +zfasuie
(3) + zdirection

. 4) -xHawsde
(4) -—xdirection

, (129 g6 wuuLst Qurmpefldar gefiellasd erer V2
129. The refractive index of the material of a prism is whgib UL LssSer Gamad 30°, Qeuerafis s
J2 and the angle of the prism is 30°. One of the Qaran® UULLssHa @ gefellwsd Uiy
two refracting surfaces of the prism is made a ol Upns  @pqwns  LIHPULGADE. gefller
mirror inwards, by silver coating. A beam of semaw@stan. gaisspen @ QUULLsgSler
monochromatic light entering the prism from the ohOpre usssder  afiCu ea(BEel Siop
other face will retrace its path (after reflection afGw Hmbudpg. (Gefliysded Ardueisser)
from the silvered surface) if its angle of incidence @igen UL LssSen Bsmar LGGsTamD
on the prism is (1) 60°
: W
1) 60 “’/ (5; (2) 30°
2 30° = (3) 45°
pe
(3) 45° @) &f
(€))% e 130. g Sagramgle Gesfssuul@der &M
130. The magnetic potential energy stored in a certain Bevowurppe 25 mJ, Wengremaue G b
inductor is 25 mJ, when the current in the 60 mA aaflés, Wengreim_afdr Ao
inductor is 60 mA. This inductor is of inductance 1) 0138H
(1) 0-138H (2) 1389H
(2) 1389 H (3) 13888 H
(3) 13888H 4) 1389H
(4) 1389 H 131. 15 cm Gelwuggmbd Gsren @ &P gl mHs
. 40 cm Qsrepweie QUTEHET @eusEILLHETETS.
131. An object is placed at a distance of 40 cm from a .

! ) apeowu Cpradu desuid GQurmerrans 20 cm
concave mirror of focal length 15 em. If the object Gsr@adpeE BETBEILLLTS, QubLgSer
is displaced through a distance of 20 cm towards @LuQuuitay
the mirror, the displacement of the image will be 1) 2pe@emhe 30 cm oe £5Qsdgid
(1) 30 cm away from the mirror 2)  244Cpra8 30 cm Cprs 8 @wsED

0 toward: i
(2) 30 cm towards the mirror 3)  aye@elimss 36 cm dedssngb
(3) 36 cm away from the mirror @ Gpnsdl 36 cm CGpre Bose!
é c mé &(&L
(4) 36 cm towards the mirror s = i
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132. A tuning fork is used to produce resonance in a

133. The electrostatic force between the metal plates

134. A pendulum is hung from the roof of a

135. An electron falls from rest through a vertical

glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s
(2) 850 m/s
(3) 339m/s
(4) 300 m/s

of an isolated parallel plate capacitor C having a

charge Q and area A, is

(1) independent of the distance between the
plates.

) proportional to the square root of the
distance between the plates.
linearly proportional to the
between the plates.
inversely proportional to the distance
between the plates.

(3 distance

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 2ns

(2) 2s

3) ms

(4) 1s

distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1
(2)
(3)
(4)

smaller

10 times greater
5 times greater
equal

133.

134.

135.

‘—*

132.

2@ samantys GPria gsdasma gHLOSS RO
Qesssma LwWETLRSSLLOEADS. @6 Ui

sl &QaTan®  Gumigd oder  sTHpS
SbLgSlen Bergeng sf@Fwwend. 27°C
se@n@auiuBleaude, L)1 CES] @rer®

e@sflosaisar 20 cm wpmb 73 cm  SergHd
2 (hunssLILREDg. Qassameuuler oiFlTCauem
320 Hz erafled, 27°C &5 allullan damsCausonang ?
(1) 330 m/s

(2) 350 m/s

(3) 339 m/s

(4) 300 m/s

Q Bemgrii b wHmb A upiy QsrerL @eemr
5560 WarGssdulear C Wfsstul Herer @ran®d
550 &@RsE @ Cu steariiu@ Heoe Wearallud
aflenswireng)

(1) szs@sErsE Qevruiul L Agraoama
ETITSS].

35B&ERéE Qe Ul L Agreeeins
By e elasll QUIEESSIPELILIF.
55H5EHEE GenL il L Osrenevalh@
Crpflwe afldlsls QurmSsLPeLWF.

55 HsEHEE Qe uul L Asreaealdnha
aglirefléls QuTEBSSpenLIg).

Caemauwurar o wgeperer sl et smengulen
2 &8udeS(mbgl @ saTFQTENS)
Qsmiisefiul (Hdteng LHHL g @@ Slos
@aulupMCured @peigytd Gergutd @uiduns
Sooamory  odrarg. ggrefl  Heeuldmg
5m Qsrewdid sasd upddar. wRssnd 20 m/s?
arafled, siemaa] Cryb

(2)
3
(4)

1) 2ms
(2) 2s
3 =ns
(4) 1s
Enrar oHmID Qenigssns CuoaGprésslu
Savsfeorer o Warow E @, e aGoslyrer
ez  euefleouldnhg Cdemessts  h
Qzmeneve &G aflpdlns. @uQurupg
Nemyesder ojere] <SitugCu  eaussiul®

Hasol B Houuiu@dng. oo YCymlirer
ey Werasdaer 2Cs 2wimb h eareipneE
&Gy aflgomm Qewtiu@Eng. erafled
a@esigrer Sl Coy jere) LGrmLrer eflipid
Cpr SlerayLar gUndl e

1) Adlwg

(2) 10 wLkg Quilug

(3) 5 wLkiEg Quilug

(4) swwreng
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136. Match the metal ions given in Column I with the

spin magnetic moments of the ions given in
Column II and assign the correct code :

136.

QsrEd 1 & Qen@sstiuc L 2 Gars walsmer
Qsred I & Qer@ssuulL  Seuswealsefen
sppd  sTpsdmuLsSp@idar GuiGsd  LHEID

Column I Column II @igan sflurar @l er CsipAsBssab :
Co** i. 8 BM. CQar@g) I Clamagl 11 N
crt ii. +/35 BM. a. Co** i. V8 BM. ‘\K‘V‘
c. Fe i, V3 BM. b. ™ ii. V35 BM. "t
i N2 . 24 BM. e. Fe? iii. V3 B.M.
v. Ji5 BM. d. N iv. V24 BM.
£ 3 _x/ v. 15 BM.
a c
; B ) a b c d
@ % W it i (1 v v i i
2 iv i i iii (2) iv i i iii
3) i ii iii iv (3 i i ii iv
. s (4) iii v i ii
s e 137. @ Fe(CO)
. bLy sriTLeaTed, Fel &7,
187. Iron carbonyl, Fe(CO); is D= Far
(1) prenE &0
(1) tetranuclear (2) s s®
(2) trinuclear (3) qeranms &
(3) mononuclear “4) Q®sm
(4)  dinuclear 138. [CoClyen),] wemey &TLED wdHussen
138. The type of isomerism shown by the complex QSIS
[CoCly(en)y] is (1) age aus wTHHLD
ssalia ; (2) <well wrHHlwd
\ @ Gec:mefnca.l 1som('ensm S i Y
(2) TIonization isomerism @) @eaiy wrpHu
(3) Coordination isomerism 139. Epscn_ siafsete g gap d-d LTppS@SUD
(4) Linkage isomerism LOHYID UTTETESSSEa@DLID 2 L WSTESD ?
139. Which one of the following ions exhibits (1) CIOZ_
d-d transi';,iim and paramagnetism as well ? (2) MO
(1) CrOy .
(3) Cry0y
2) MnO, =
@ . (4) MnO?
@ Cuos 140. [Ni(CO),] simameidr LpQaisl Sepwvi ORI
(4) MnOi- STHS SETEOOWLITEIS)
(1)  egyser ypQeuel eI LHYID Lwm
140. The geometry and magnetic behaviour of the BTHSSSETELD
complex [Ni(CO),] are (2) ssyser UpQauefl ey wpmid Gum
(1) square planar geometry and diamagnetic SMHSSSNDLO
. (8)  prenpd ypGeuefl el wHmD Lwim
(2) square planar geometry and paramagnetic STpEEBTMLD
(3) tetrahedral geometry and diamagnetic 4) pred upQeuef ey whmid GuyT
@ tetrahedral geometry and paramagnetic STHSSSETEDLO
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141.

142.

143.

144,

145.

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO,. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1) 14

(2 28

3) 30

(4) 44

Which of the following oxides is most acidic in
nature ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

The difference between amylose and amylopectin
is
(1) Amylopectin have 1—4 o-linkage and
1 — 6 a-linkage

Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage
Amylose have
1 — 6 B-linkage
Amylose is made up of glucose and
galactose

(2)

3) 1—-4 o-linkage and

4)

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?
(1) They contain covalent bonds between
various linear polymer chains.

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

They contain strong covalent bonds in their
polymer chains.

(2)
(3)

(4)

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In spite of substituents nitro group always

goes to only m-position.

In absence of substituents nitro grbup
always goes to m-position.

In electrophilic substitution
amino group is meta directive.

(2)

reactions

3)

(4) In acidic (strong) medium aniline is present

as anilinium ion.

141.

142.

143.

144.

145.

2:3 g umnfls <leon wHpb 45 g ssTdls
oo seee @i HySO4 oiear eflemar
yfdpg. Qeueflaumbd amysseiear swamer KOH
Aomaseiar e Qegssiu@épg. STP o
Bsaperar allenan@urmefiar e (g) wreng

@ 14

(2) 28

3) 30

(4) 44

Epsan psmsdsaiie gy @ubemsunts s
Sflassarane g ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

<fCGamey  wppd  HBCarGusger  @en G
o arer GeumuimL rergi

(1) 1-4a-@eariy wppd 1 -6
a-@aeaniieu 2fGar@usiger
Qaremig(Hé @S

1— 4 o-@evewriiy Hgitb 1 — 6
B-@aeariienu OGaT@LS, e

Qs et (Hé @D

1— 4 a-@eentiiy wpmib 1 — 6
B-@aantien SiBlGarey Qaramy BH&ESn
GesGanen wHmib sresCLrafarmd

2 OCmeD &SI g (HEESD

GUEGS QsTLiy ooz  eeoelGeemd
Ueugs®eT QUTBSE. SpsaT. smppiseid gl
gy sflwrarg Gedenev ?

(1) QeucuCaup CrCam (@ Ly
shiss@psdan_Cu sslenenTiiLsenar
Qseir_g.

Cusaal., Quaaped GanidE
aT(H5gIEST_(HaarmELD.

Siwal @il wHmID (P -
Aeoars0sred umugulend e @manEb.

(2)

(3)

(4)

(2)

(3)

4) ueuy susdlaild iame uslawwirer
55 N aTLILGMET 2 L WG
acllenwo s e ear_s586 <yeffeSlar

@p  Grpp m-epL Gy sjefdfimanyd smEDS,
e erafléd

1) udSeser @mpsCurgid ep Crm QsnEd
aruiGungib m-GL g CrrsdCu Qedgib.
udSpeer @awrsGurg @plCrm GsTEs
eriGumgid m-@L s CrrsdGu Gsdgib.
aqesigrer st UHSI®  olearsafio
248Carr QsTEH m-aufipL&ELd.

sl (audlewllE) emssde afdler,
siatedlaflun Swellurs GnméELD-

(2
(3)

(4)
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146. The bond dissociation energies of X,, Y, and XY |146. X5, Y, wppib XY e Geverriy Wfles 2HDO
are in the ratio of 1: 05 : 1. AH for the formation 1: 05 : 1cranp fsssdle 2 drargl. XY 2 (Heumsed
of XY is —200 kJ mol%. The bond dissociation AH syerg — 200 kJ mol L, X, afler Fevemriiny
energy of X, will be Qflens SyppeTens) \

(1) 200 kJ mol™* (1) 200 kJ mol™
(2) 800kJ mol ! (2) 800 kJ mol !
(3)  100kJ mol ™" (3) 100kJ mol™*
(4) 400 kJ mol ™ (4) 400kJ mol

147. When initial concentration of the reactant is|147. efever@Gumahdr Qsm_és Qe
doubled, the half-life period of a zero order @EoLhstEd CUTE., GO LRU®S Neparudesr
reaction ST QUTPEY &TeLb
(1). is halved 1) urré]u.lrr@m
(2) istripled (2) @bLESTED
(3) is doubled 3) @mwvLrsTEd
(4) remains unchanged 4) wipTs AEEED

148. For the redox reaction 148. 6dgCanp ¢@ss lleanurar

- = 2

MnO; +C,0%™ + H' — Mn?* +C0, + Hy0 MnOj +C,07” + H' —— Mn"" + COy + Hy0
the correct coefficients of the reactants for the @sen sorarossLULL soeur e elamaru®
balanced equation are Qurmefiar sflwurer Qaeurars

MnO; C,07 H' MnO; C,07~ H'
(1) 16 5 2 1 16 5 2
@) 2 16 5 @ 2 16 5
3 2 5 16 3 2 5 16
@ 5 16 2 ¢

(4) 5 16 2

149. Which one of the following conditions will favour ) - X - .
maximum formation of the product in the R, g%p_&m“ srE G ppimamiic é‘ﬁg’u.'_& e GuRman
reaction, @eucflenanied 2 (hours ggeuTESLD,

_ Ay (@ +By(@=X,(g) AH=-XkJ? Ay(2) +By(@ Xy AH=-XkJ?
(1) Low temperature and high pressure 1) Eeopss Qauufome whmb 2fs Si(pssId
(2) High temperature and high pressure (2) <ifs Qaunufleow LHDIDL s D(PESD
(3) Low temperature and low pressure @) eopss Geusufleow  wLHHD  GSPDHS
: SiPSSLd
H 1
@ igh temperatyre and low pressure @) sfis Qauiufes LHHb GOUEE SWE5D
150. The correction factor ‘a’ to the ideal gas equation 150, podiudy aimy sweUTigd S@sss S . ia
corresponds to i .
) @sn©& GariemLwg)
(1) density of the gas molecules . oy
(1) ey apedsapseaiien L5
(2) electric field present between the gas . . .
(2) amny esapsasdo Cu  QGHEEGD
molecules S :
_ a@jeLd
(3) volume of the gas n.xolecules (3) ey ppasempseidn sarsiaal
(4) forces of attraction between the gas @) any mesmpsEsfo Gu oder st
molecules e
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'151. Which one is a wrong statement ? 151. &g @ sauprer spn ?
(1) Total orbital angular momentum of electron (1) ‘S-irmelled o &rer arQeg L _rafler
s’ orbital is equal to zero. Qurgs <ML med Gamrent 2 HsLd
The electronic configuration of N atom is URWEADHE Fowml o dreng).
182 262 2p 2p 2p (2) N eigmane a.enenl Gr@iuésl'_frm'm 24eOLDLILY
v [ (1] O]
(3) An orbital is designated by three quantum
numbers while an electron in an atom is (3) @@ NI Lo apdy Gauranib aansarnd
designated by four quantum numbers. @@U@LDUQ@.‘D@_ @b @i Sigeer
(4) The value of m for d_2 is zero. 8G aUosLgrer  préE  Geuraib
L aramserred @GO LuGSpg.
152. Consider the following species : (4)  d,2 é m Sy YR o drarg.
CN*, CN™, NO and CN 152. @eieymliLisener er(HSgIEbameTL T
Which one of these will have the highest bond CN*, CN7, NO wpgib CN
order ? gl gern 2ifsorear Weamriysisos emug ?
(1) NO (1) NO
(2) CN* (2 ON*
(3) CN~ (3) CN~
(4) CN (4) CN
153. Magnesium reacts with an element (X) to form an 158, kil o g,aﬂ_mb &) &"G'”, @g,]mm Liflbg
g ; ; aon well Geingams o marsgn. X) er
ionic compound. If the ground state electronic : i | ; 152 942 908
configuration of (X) is 1s? 252 2p3, the simplest 5'@'@ DL HQ_ML,U"‘_W ARSI S e
4 g arafled. &GaingHlen ereflapiowimar eumitium_reang
formula for this compound is
(1) MgyXy
(1) MgyXs 9 Mox
(2)
@) MgX s Mg2
3) MgX, by ngf
@ MggX, 8s%s
154. sep OGauvufleoules @by bee =iewlemu
154. Iron exhibits bee structure at room temperature. 900°C s Ciod f ey
Above 900°C, it transforms to fec structure. The aam_‘u_:g]. m@_ 5 é@ n &:mwu D(?)
ratio of density of iron at room temperature to wrgd.  ep Gauflowsso, 900°C ugid
that at 900°C (assuming molar mass and atomic @mblér SiLisd dswreangs (@@mbder Comemd
Fadﬁ of iron remains constant with temperature) Heopuyb wHgd eien @wpd Galufloaa
1= Qummss LIV BHUusTs arar )
(D —j_g 1) ﬁ
2 V2
® 22 @ 38
442 442
@ 4B @ HB
3/2 32
1 i
= ) =
(4) 3 (4) 5
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155. The solubility of BaSO, in water is|155. 298 K& f$fle> BaSO, e senndper 2:42 x 103 gL,
_3 -1 R . ; g 5 ]
2:42x 107 gL~ at 298 K. The value of its 2gen sarHpner CLmss (Kp) wdiiuneng; :
solubility product (KSP) will be (Qsm@ssuiu L BaSOy e Gunent flean =
(Given molar mass of BaSO, =233 g mol ™}
AL 233 g mol 1)
(1) 108x10 " mol“L 1) 108 % 10720 mol? 12
@ 1:08x107* mol® L2 @) 108x 1074 mel? 12
(3) 1:08x10 2 mol? L2 (3) 1-08x% 1012 me12 1,2
@ 108x10 ¥ mol® L2 @ 1:08x 10® mol® L2
156. Given van der Waals constant for NH3, H,, O, 186. NHy, H,, O, wpgdr CO, & Qsn@ésiiii
and CO, are respectively 4-17, 0-244, 1-36 and ounem.t sundely. pmiidiser gpapGiu 417, 0244,
3-59, which one of the following gases is most 136 wppid 359, Epseim amnysseiie: ag e
easily liquefied ? s erafigre Sraiotaibd :
(1) NHy (1) NH,4
@ H, \p) (3) Hy
4) CO4 (4) CO,
% i S 1% . |187. QaaCamy Qsfesefiec NaOH wpmn HCl g
. Following solutions were prepared by mixing QauciC 9 : b ViA—
different Vf)lumes of NaOH and HCI of different &gfm?ilm;::ﬂa; :w bag -l s
concentrations : M M
a  60mL % HOI + 40 mL % NaOH a. 60mL 10 HCI + 40 mL 5 NaOH
M M
T % HCI + 45 mL % NaOH b. 55mL T HCI + 45 mL T NaOH
M M
c. 75mL % HCI + 25 mL % NaOH o Bembigy B0k Gond s NROH
M M
d 100 mL % HCI + 100 mL % NaOH d. 100 mL 10 HCI + 100 mL 10 NaOH
pH of which one of them will be equal to 1 ? ager ganfler pH gaig 1 6@ swors Qossh ?
(1) b 1 b
(2) d (2) d
3) a 3) a
4) ¢ @ e
158. On whjc.h of the follow.ing properties does the |158. Spsean. eps L saild o swafluldar disd
coagulating power of an ion depend ? Spern snipSmEED ?
(1) :‘lhe magnitude of the charge on the ion (1) ewefban Bamsemn siamadlé wr o
one
(2) aflulfar et DL
(2) Both magnitude and sign of the charge on = TR ‘eirel 0l e
the ion @rawmenu G
(3) Size of the ion alone @) sweallldr sierefldx wi G
(4) The sign of charge on the ion alone @) swelller Bearsmw Gilew wGb
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155.

156.

157.

158.

The solubility of BaSO, in water is
242x10° gL' at 298K. The value of its
solubility product (Kp) will be

(Given molar mass of BaSO, =233 g mol )

(1) 1:08x 1070 mot? L2

(2
3)
(4)

1-08 x 10~ mol® L2
1:08 x 1072 mol2 L2
1:08 x 1078 mol? L2

Given van der Waals constant for NHg, Hy, O,
and CO, are respectively 4:17, 0244, 1-36 and
3:59, which one of the following gases is most
easily liquefied ?

(1) NHj
(2) O,

G
4)

CO,
Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60mL Ll HCI + 40 mL L NaOH
10 10

d

b. 55mL L2 HCI + 45mL L) NaOH
10 10

¢ 75mL % HCI + 25 mL % NaOH

d. 100 mL X Hel+ 100 mL M NaoH
10 10

pH of which one of them will be equal to 1 ?
(1)
(2)
(3)
4)

e p oo

On which of the following properties does the

coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Both magnitude and sign of the charge on

the ion
(3) Size of the ion alone

(4)

The sign of charge on the ion alone

155.

156.

157.

158.

298 K & $fe BaSO, ar sersiper 2:42x 103 gL,
g6 sevjdlpen QLimees (Ksp) wllirerg)
(Qar@ésiiucL BaSO, ér Gurart Hlen =

233 g mol 1)

(1) 108x107% mo® L2

(2) 1:08x 107 mol® L2

(3) 1:08x107* mol® L2

4) 1:08x 10 mol® L™

NH3, H2, O2 HId CO2 5@ Qar@&srur L
eumerTL it eumeven wrdledlser apenpCGu 4-17, 0-244,
1-36 wpgid 3-59, Spseam_ aimysselld gy ey
& erafigns Syeainmed :

(1) NH;

(2) 0Oy

(8) Hy

(4) CO,

QeucuGeugy  GeMeysefles NaOH wpmi HCl g

QeueiBGeaupy  sergjerelled sepg swurfésiur
Spsa sajsasaid :

a. 60mL M HCI + 40 mL. E NaOH
10 10

b. 55mL M HCl1 + 45 mL M NaOH
10 10

¢ 75mL % HCI + 25 mL % NaOH

M M
ol I — 1 —
00 mL 10 HCI + 100 mL 10 NaOH

argen gandler pH wyens) 1 6@ swors Gmeeh ?
1 b

2) d
3) a
4 ¢
Spsan apg uarysaild e swallear Higo
Sper anipd(mé@n ?

(1) Sweller Bargmw Seralld L (Hib

(2) uwefller Slerserin era; wHYD &6
@remenL_u|CGuo

B) <weflufer seraflés L Hd

4) swallulear Bersemw Ghew wHid
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159.

160.

161.

162.

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

— 182V — 1BV

BrO; ———> Bf0; ——> HBrO
x
Br <1oesav B2 “Tamsv

Then the species undergoing disproportionation
is

(6]
(2)
3
4)

BrOg

Br,

BrO;

HBrO

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 0:00224 L of water vapours at 1 atm and
273 K

0-18 g of water
1072 mol of water

(3)
(4)

The correct difference between first- and
second-order reactions is that

(1) the rate of a first-order reaction does mnot
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed
the half-life of a first-order reaction does not
depend on [Aly the halflife of a

second-order reaction does depend on [Al,

(2)

(3)

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(4)

Among CaH,, BeH,, BaH,, the order of ionic

character is
7L

(1) BeH, < CaHy < BaH,
(2) BeH, <BaH, < CaH,
(8) CaH, < BeH, < BaH,
(4) BaH, < BeH, < CaH,

159. £Cyp odrer

160.

161.

162.

sriguimiug  Gume
LGrmiblefer
LrHonsens

uLggle
GeuciCeugy emf iy w
25680Camn  Heoawld gHuBL
smHHO Qamermed :

_ 1-82V

BrO, e BN

Bl'03

HBrO

Br~

“ToeszVv °'2 <1595V
Aélzs HeseysE eeremm@hd e mliLITag
&&LD.

(1) BrOj

(2) Bry

(3) BrOy

(4) HBrO

Spsam_eubbled adléd B epessmmsatien

aanalsms sfasulsomi QmEEn ?

(1) 18 mL R

(2) 1atm wpmb 273 K& 0:00224 L fir
< afludied

(3) 018 g pifled

(4) 1073 Qo B

ws® wHHD @rear_mb eams elearsafar sflurear
Causpur( eremmug)

(1) s ams ooendda cleoaGusn
elenaru@u@ummefler Qedenau
sripdmsaTs; @rarimb euams eleeanier
AeaaGasd deoauGurmeiiar Qsblee
FnipE(HEGD
pe®
fevarusaiiL@ssombd;
Aeamwu daanssiubdss @uens

(2) UENS aSenaranit

@remLmd s
(3) s s olwandear ey ampel [Alg
snipHmesng; @ramind wes eleanen
<y aumpey (Al s @EED

Wso enemfanr  eflenenGousid
Aevarui(® Qurmeflar Qedleneu &mipdméED;
QranLmb-cuens elwender  elearGoisnd
Mevarui( Qurmaflen Qefleneu smipSlésTs

CaH,, BeH,;, BaHy, «fuepfgier wefll
uemGerr euflenswimeng)

(1) BeH, < CaH, <BaH,

(2) BeH,< BaH, < CaHy

(8) CaH, < BeH, <BaH,

(4) BaH, < BeH, < CaHy

(4) QUG
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168. In the structure of CIFg, the number of lone pairs | 163. CIF3 si@widd, owvw <igy ‘Cl cdaer safiss
of electrons on central atom ‘Cl’ is arQevdc e @ evlsaflen eratmentEeawimerng
(1)  one X (1) gem
(2) four 5 (2) J.E'Tdﬂ@) fb ©
® G o
ee
@ apery ~
164. Considering Ellingham diagram, which of the| g s : o TR - S S
following metals can be used to reduce alumina ? gkps;i‘-‘n;% w”:r;f e\'ﬂi) a;®j§| L&mm:z @L‘ % O
(1) Fe Lweru@Ang ?
& Mg 1) Fe /}\Q
3) Zn @ Mg
(4) Cu 3) Zn
165. The correct order of atomic radii in group 13 (4) Cu
Fpasa s 165. Qsrgd 13 seflvmisailear sflumer gy <, rhisafier
(1) B<Al<In<Ga<Tl aflaswrars
(2) B<Ga<Al<Tl<In @) Boe AlicTa o
8 Pedi=laclacll (2 B<Ga<Al<Ti<In
Betasatxin =11 (3) B<Al<Ga<In<TI
166. Which one of the following elements is unable to (4) B<Ga<Al<In<Tl
g =, ‘
foem MEG ton 166. Spasan_ saflnsdd og erenm MFg_ Sjweflew
(1) Ge 2 (heuméE @ueng ?
e » Ga
= w3 2 B
%O o
(3) Al
167. The correct order of N-compounds in its 45 in
decreasi{\g ort;(ir of oxidation states is
= 167. N Gemonisaflen sflwmrer @ gealflas
EN Oy, NG, T1g NELCL s8:Canhn Hevesaflar auflenswirar,
ﬁﬁ/\ <&ARCadn H £l
(2) _AHNOg, NH,CI, NO, N, (1) HNOg4, NO, Ny, NH,CI
)\ (3)  HNOg4, NO, NH/C], N, (2) HNOg, NH,Cl, NO, Ny
Rl
@\ NH,CI, N, NO, HNO, (3 HNO,, NO, NH,CL N,
' , ﬁ . , (4) NH,CI, N,, NO, HNO,
@ ch of the following statements is not true for :
halogens ? 168. Spasar..  smppsefldy  apTOREEEREE 6l
A ; o
(1) All form monobasic oxyacids. Z;mmwuﬂmmw ’ £ il
m, GTELD @HEMDETTT &8 Sjblevgen, tb.
All but fluorine show po(s%ve oxidation 2 f e i §_ ﬁ, G B
states. ) yesflear sy cioasgn  Cpr
b 2580CarHn Hleoawew st H.
(3) All are oxidizing agents. @) adonid adgCapiiursib.
(4) Chlorine has the highest electron-gain 4) @Cormflér wfsorer G TTE - GHDD
enthalpy. i
eransmedld 2 entwig).
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169. The compound C;Hg undergoes the following|169. Gsiow C;Hg Sipsan eflenarenws Lfdpg :
reactions : 3Cl,/A  Bry/Fe _ Zn/HCI
3Cly/A Bry/Fe _ Zn/HCI Cy7Hg > A B >C
CHg — A —>B ——>C
devar@ummer ‘C’ wrearg)
The product ‘C’ is
(1) m-yGyrGurGLreyeier
(1) m-bromotoluene
(2)  3-4GynGir-2,4,6- LanyeConCrrGLmgieiien
(2) 3-bromo-2,4,6-trichlorotoluene
’ (3)  o0-yGymGur@Lmgieien
(3) o-bromotoluene @)  p-yGmGuoraLrgieden
(4) p-bromotoluene -
170. G A N e Gsipg B &
C. a0l ColpONL— P 1170 B e s
170) The compound A on treatment with Na gives B, ho 5 W 8 pO=lg by
and with PCl; gives C. B and C react together to perprs deeryfits @Lasdd ms@T FGADE.
give diethyl ether. A, B and C are in the order A, B opgd C der arflasurens)
() CHzOH, CHg, CHsCL (Mg \Y\ (1) C3Hz0H, CyHg, CoH,CI
@) C,HCl, CyH,, CoH;0H (2) CyH;Cl, CoHg, CoH;0H
C,H;OH, C,H;Cl, C,H,ONa (3) C,HzOH, C,H;Cl, CoH;ONa
C,H;0H, C,H;ONa, C,H;Cl (4)  C,H;0H, CoH;O0Na, CoH;Cl
) 171. evept Crrasmiuer (A) LGrmlg er udeSiganmd
171. Hydrocarbon (A) reacts with bromine by Aearifts o@sd LGIT@DOL 2 HaTsED
substitution to form an alkyl bromide which by . t s 15
sealu o6y deander epebd BraT@GSESD
Wurtz reaction is converted to gaseous L )
= G@paTer STTLET Sgnssmer Garam.  eumy
hydrocarbon containing less than-four carbon i ) g 8 A)
-~ (22 L TSATLISHNS LD (2] . (8
atoms. (A) is /C«/’ NG, QL= DD DL EDGI cueg)
(1) CH=CH \\»u}* (1 CH=CH
() CH,-CH, (2) CH3;-CHg
(3) CHy=CH, G Hgal M Sl ’
(4) CHy Q (4) CH4
"‘p'gd- 172. Qupws wHmbd wafls CQswud @remyameib
172. Which oxide of nitrogen is nof a common alcfloar s 26  LESSLLEODL  @BpLime
pollutant introduced into the atmosphere both SsPaET 5 gon QuTgeurer LIELESSE
due to natural and human activity ? AevLwng) ?
1) N,0 ’
(1 Nz05 1) N,04
(2) Ny,O 2 N,0 /
@ NO, 3) NO,
& Ha @ NO
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173. Which of the following carbocations is expected to (173, &paem_ s Cpir Suwalde og s 2fls
be most stable ? <P BleneLigseren o 2 DLWSTE ardliLnisseamd ?
Nz
~ (72 f= NOZ
NO, Y i
(1
(<]
e
Y H
NO,
NO,
_ @ H@
@ H7© s
Y @
‘ NO,
NO,
3)
(3)
¥ H
¥ B
NO,
NO, H
. o PO
@ Y>® ¥
174. @ OAmps  ewawns SIFESHET  Sps@r_ g
TR : A
174. Which of the following molecules represents the epasemfle) sp%, sp”, sp, sp Qemsseiy aifmseus
order of hybridisation sp?, sp?, sp, sp from left to STL@W ?
Biph-atunis () HC=C-C=CH
(1) HC=C-C=CH \"\ (2) CHy=CH-CH=CH,

(2) CH,=CH-CH=CH,
(3 CHy=CH-C=CH
(4) CHy-CH=CH-CH,

(3) CHy=CH-C=CH
(4) CH3-CH=CH-CH,

175. -1 LBSH Aeeranay Qummss Epsam_eupper
175. Which of the following is correct with respect to a5 sfluneng : (R = )
=T effect of the substituents ? (R = alkyl)

(1) -NHy<-OR<-F
(2) -NH;>-OR>-F
(3) ~NR;<-OR<-F (3) -NRy;<-OR<-F

(1) ~NHy<-OR<-F

(2) -NH;>-OR>-F

4 -NR,>-OR>-F (49) ~NRy>-OR>-F
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176. Carboxylic acids have higher boiling points than [176. UL L &sniqw ep&Iam BleopuienLwi
aldehydes, ketones and even alcohols of <2 digan BT, &1 CLnetrser wHmItd
comparable molecular mass. It is due to their S dEaDTOSET SM g gt SRk GoTeNE
(1) formation of intramolecular H-bonding sfonsd  oifls Qsrdfleoal  ydeflsman
(2) more extensive association of carboxylic e@Lwg gar aaild Geaupld

acid via van der Waals force of attraction 1) posmdleCu H Geemiy 2 @mansd
(8) formation of carboxylate ion @) am@r_t andd swisd dl@s apewrs
(4) formation of intermolecular H-bonding sriLtsrdls  obesdda  ods o8
B asss5TD

177. Compound A, CgH;,0, is found to react with (3) sriumsaiGar Siwel e matugsTd
NaOI (produced by reacting Y with NaOH) .an‘d @)  aobmbgd H Gamriy o.peinsd
yields a yellow precipitate with characteristic
sl 177. Gsiwnd A, CgH30, NaOl ujier efeveryfleugrs
A and Y are respectively <P&Gpmd (Y-wnang, NaOH o Lear efmenfipg

2 pusHurdpg) wHRID GO WwEHEET Spugama
(1) HC _O_ CH, - OH and I, GO sgbs ApguLer 5O
s A wppib Y wrengy apeopGus
(1) HC CH, - OH wpmis T
@ ¢ > CH - CHj and
oH @ ¢ >—CH—CH wppid I
3 LopMID 1y
|
@ {_)- CH,- CH,~ OHand 1, OH.
(3) < >_ CH2 = CH2 = OH LD.fj)g)}IJ') 12
CHjy
(4) CHj G OH and I, CH,
4) CH, @— OH wpmib I
178. In the reaction
OH oNat  |178 @aceamnds
OH O Na*
+ CHCly + NaOH —> - 50
+ CHCl3 + NaOH ——> )
the electrophile involved is - ek sa sreitne RELDSE
(1) dichloromethyl cation (CHCly) &
\ 4 % 1) e eGemCyr QusBe Cphsivial (CHCL,)
2 °
i th; ion (C
(2) dichlorome yl;;mon( HCl,) @ @LeGamCrr Gusdo afit swea (CHCly)
(3) formyl cation (CHO ) )
(8) unfrerwe Cpir sufafl (CHO )
(4) dichlorocarbene (:CCly) @)  eLECamGyr srmSer (:CCLy)
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179. Identify the major products P, Q and R in the
following sequence of reactions :

Anhydrous
AlCl
—=
@) 0,
—2-_“s04R
o @Ho7 " 2t
P Q R
CH,CH,CH; CHO
€} ’ | CHyCH, - OH
CH(CHS,), OH
@ , CH,CH(OH)CHj
CH,CH,CH; CHO  COOH

(3)

jsle
L

CH; - CO - CH,

OH

@CH(CHa)Z ©

Which of the following compounds can form a

(4)

180.
zwitterion ?

179. Spser

aSlenargefier

auflensufed W&

slewar@ummerser P, Q whmib R g sam_flueyb :

e

AlCI
© + CHzCH,CH,Cl ———3 >

P
CH,CH,CH,
@ ,
CH(CHy),
@ ‘
CH,CH,CH;

3)

' CH(CHj),
@ @ ,

\

) 0,
R
@Hom 7

Q R

CHO

CH,CH, - OH

OH
CH3CH(OH)CH;

CHO COOH

OH

180. SpsewL Geivmsdlle g esell i Swalow

2 (heumd @ ?

(1) Aniline (1) + efeSlen
(2) Benzoic acid @) QuECsTGs e Bleon
(3) Acetanilide \\
S 3) el
Glycine
: (4) senerflerr
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